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brp.frm <l y;

OPrivate Sub (fommandl_Click
" & Datal.Recordset.FindFirst "ghcode =" & Text].Text

If Datal.Recordset.NoMatch = False Then
If Datal.Recordset.Fields!pcig ="" Then
(il 01 oSS aabai SleML1) MsgBox
brp.Hide

Else

If Datal.Recordset.Fields!pcig > 55 Then
brpcal.Label3.Visible = True
brpcal.Label5.Visible = False

"TF (Datal .Recordset.Fields!pcig > 55) And (Datal.Recordset Fields!pcig <="70) Thep ™ = ==~

"y =brpcal.Label2.Caption

End If
If (Datal.Recordset.Fields!pcig > 70) And (Datal.Recordset.Fields!pcig <= 85) Then
"oy~ Sl "= brpcal.Label2.Caption

End If
If (Datal.Recordset.Fields!pcig > 85) And (Datal.Recordset.Fields!pcig <= 100) Then
" J"= brpcal.Label2.Caption

End If

brpcal.Show

brp.Hide

Else

brpcal.Label3.Visible = False
brpcal.Label5.Visible = True

" © "TF (Datal.Recordset.Fields!pcig >= 0f And (Datal.Recordset.Fields!peig <="10) Theh™ =" ="

“es§" = brpcal.Label2.Caption
End If
[f (Datal.Recordset.Fields!pcig > 10) And (Datal.Recordset.Fields!pcig <= 25) Then
"y J> "= brpcal.Label2.Caption
End If
If (Datal.Recordset.Fields!pcig > 25) And (Datal.Recordset.Fields!pcig <= 40) Then
"4" = brpcal.Label2.Caption
End If
If (Datal .Recordset.Fields!pcig > 40) And (Datal.Recordset.Fields!pcig <= 55) Then
"L "= brpcal.Label2.Caption
End If
brpcal.Show
.brp.Hide ,
End If
End If
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Else
(ol ok 35l oLzt wabis uS™) MsgBox
“=Textl.Text

SEndIf ..
End Sub

OPrivate Sub Command2_Click
brp.Hide '

End Sub

OPrivate Sub Form_Activate

" =Textl. Text
End Sub

(Private Sub Textl_KeyPress(KeyAscii As Integer

If KeyAscii = 13 Then
Command1.SetFocus

. .En,d If . . - “ e . . . . o e .1----.. I T T A LA Lr S TN b

End Sub

brpcal.frm by v;5

()Private Sub Command!_Click
brtagh.Show

brpcal. Hide

End Sub

()Private Sub Command?2_Click

brpcal.Hide
lEnd Sub

brtagh.frm 4ol y vj

()Private Sub Form_Activate

Dim x0, x1, x2, X3, x4, x5, x6, x7, x8, x9, x10, x11, x12, x13, x14 As Integer

Dim gtl, gtm, gth, gt, ghl, ghm, ghh, gh, gal, gam, gah, ga, gzl, gzm, gzh, gz, gsl, gsm, gsh, gs
As Single

" " & Datal.Recordset.FindFirst "ghcode ="' & brp.Textl.Text

If Datal .Recordset. NoMatch = False Then



gtl = Datal.Recordset.Fields!gdl0 + Datal.Recordset.Fields!gdl2 +
Datal.Recordset.Fields!gdl4 + Datal.Recordset.Fields!gdl6 + Datal.Recordset.Fields!gdl7 +
Datal .Recordset.Fields!gdl9 + Datal .Recordset.Fields!gdl12

gtm = Datal.Recordset.Fields!gdm0 + Datal.Recordset.Fields!gdm2 +
Datal.Recordset.Fields!gdm4 + Datal .Recordset.Fields!gdm6 +
Datal.Recordset.Fields!gdm7 + Datal Recordset Flelds' gdm9 +

" "Datal Recordset.Fields!gdm12 =

gth = Datal.Recordset.Fields!gdhO + Datal.Recordset.Fields!gdh2 +
Datal.Recordset.Fields!gdh4 + Datal.Recordset.Fields!gdhé + Datal.Recordset.Fields!gdh7
+ Datal.Recordset.Fields!gdh9 + Datal.Recordset.Fields!gdh12
gt =gtl + gtm + gth
ghl = Datal.Recordset.Fields!gdl0 + Datal.Recordset.Fields!gdIl +
Datal.Recordset.Fields!gdl3 + Datal.Recordset.Fields!gdl5 + Datal.Recordset.Fields!gdl6 +
Datal.Recordset.Fields!gdl13
ghm = Datal.Recordset.Fields!gdmO + Datal Recordset.Fields!gdm1 +
Datal.Recordset.Fields!gdm3 + Datal .Recordset.Fields!gdm5 +
Datal .Recordset.Fields!gdmé6 + Datal.Recordset.Fields!gdm13
ghh = Datal.Recordset.Fields!gdhO + Datal .Recordset.Fields!gdhl +
Datal.Récordset.Fields!gdh3 + Datal.Recordset. Flelds'gth + Datal.Recordset.Fields!gdh6
+ Datal .Recordset.Fields!gdh13
gh =ghl + ghm + ghh

~gal = Datal .Recordset.Fields!gdl2 + Datat.Recordset.FieldstgdI3 + -

Datal.Recordset.Fields!gdl7 + Datal.Recordset.Fields!gdl8 + Datal.Recordset. Fields! gdl9 +

Datal.Recordset.Fields!gdl12

gam = Datal.Recordset.Fields!gdm2 + Datal .Recordset.Fields!gdm3 +
Datal.Recordset.Fields!gdm7 + Datal.Recordset.Fields!gdm8 +
Datal.Recordset.Fields!gdm9 + Datal.Recordset.Fields!gdm12

gah = Datal .Recordset.Fields!gdh2 + Datal.Recordset.Fields!gdh3 +
Datal.Recordset.Fields!gdh7 + Datal.Recordset.Fields!gdh8 + Datal.Recordset.Fields!gdh9
+ Datal.Recordset.Fields!gdh12

ga = gal + gam + gah

gzl = Datal Recordset.Fields!gdlO + Datal.Recordset.Fields!gdll +
Datal.Recordset.Fields!gdl2 + Datal.Recordset.Fields!gdl6

gzm = Datal .Recordset.Fields!gdmO + Datal .Recordset.Fields!gdml +
Datal.Recordset.Fields!gdm2 + Datal .Recordset.Fields!gdm6

gzh = Datal .Recordset.Fields!gdhO + Datal.Recordset.Fields!gdh! +
~Datal .Recordset.Fields!gdh2 + Datal.Recordset.Fields!gdh6.

gz =gzl + gzm + gzh

gsl = Datal.Recordset.Fields!gdl10 + Datal.Recordset.Fields!gdi11 +
Datal.Recordset.Fields!gdl14

gsm = Datal .Recordset.Fields'gdm10 + Datal.Recordset.Fields!gdm11 +
Datal.Recordset.Fields!gdm14

gsh = Datal.Recordset.Fields!gdh10 + Datal.Recordset.Fields!gdhl ! +
Datal .Recordset.Fields!gdhl14

gs = gsl + gsm + gsh

...... -—— X calculation
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If (Datal.Recordset.Fields!gdl0 > Datal .Recordset.Fields!gdm0) And
(Datal.Recordset.Fields!gdl0 > Datal.Recordset.Fields!gdh0) Then
Select Case Datal.Recordset.Fields!gdl0
Case [s < 40
x0=1
Case [s> 40
x0=3

_End Select
[f (Datal.Recordset.Fields!gdmO >= Datal.Recordset.Fields!gdl0) And
(Datal.Recordset.Fields!gdm0 > Datal.Recordset.Fields!gdh0) Then
x0=3
End If
If (Datal.Recordset.Fields!gdhO >= Datal .Recordset.Fields!gdl0) And
(Datal.Recordset.Fields!gdhO >= Datal .Recordset.Fields!gdm0) Then
x0=3
End If

If (Datal"Recordset.Fields!gdl1 > Datal.Recordset.Fields!gdm1) And
(Datal.Recordset.Fields!gdl1 > Datal.Recordset.Fields!gdhl) Then
xl =1

End If

If (Datal.Recordset.Fields!gdm1 >= Datal.Recordset.Fields!gdl1) And S 5

“(Datal'Recordsef.Fields!gdm1 > Datal.Récordset. Flelds' gdhl) Then”
Select Case Datal.Recordset.Fields!gdm|
Case [s <= 60
xl =1
Case Is > 60
x1=6
End Select
End If
If (Datal.Recordset.Fields!gdh1l >= Datal.Recordset.Fields!gdll) And
(Datal.Recordset.Fields!gdhl >= Datal.Recordset.Fields!gdm1) Then
x1=6
End If

If (Datal .Recordset.Fields!gdl2 > Datal.Recordset.Fields!gdm2) And

(Datal.Recordset.Fields!gdl2 > Datal .Recordset.F 1elds' gdh2) Then
~8elect Case Datal.Recordset.Fields!gdi2 -

Case Is <40

x2=1

Case [s> 40

x2=35

End Select

End If

If (Datal.Recordset.Fields!gdm?2 >= Datal .Recordset.Fields!gdl2) And

(Datal.Recordset.Fields!gdm2 > Datal.Recordset.Fields!gdh2) Then
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Select Case Datal.Recordset.Fields!gdm?2

Case Is <60

x2=3

Case [s> 60

x2=5

End Select

~End If

If (Datal.Recordset.Fields!gdh2 >= Datal.Recordset.Fields!gdl2) And

(Datal.Recordset.Fields!gdh2 >= Datal .Recordset.Fields!gdm?2) Then

.~Select Case Datal.Recordset.Fields!gdh? . Ce . e e e et et
Case Is <80 '

x2=3

Case s> 80

x2=5

End Select

End If

If (Datal .Recordset.Fields!gdl3 > Datal .Recordset.Fields!gdm3) And
(Datal.Recordset.Fields!gdl3 > Datal.Recordset.Fields!gdh3) Then
x3=2

End If

If (Datal.Recordset.Fields!gdm3 >= Datal .Recordset.Fields!gdl3) And
(Datal.Recordset.Fields!gdm3 > Datal .Recordset.Fields!gdh3) Then
x3=2

If (Datal .Recordset.Fields!gdh3 >= Datal .Recordset.Ficlds!gdl3) And
(Datal.Recordset.Fields!gdh3 >= Datal.Recordset.Fields!gdm3) Then
Select Case Datal .Recordset.Fields!gdh3

CaseIs <= 60 .

x3=3

Case [s> 60

x3=5

End Select

End If

If (Datal .Recordset.Fields!gdl4 > Datal .Recordset.Fields!gdm4) And
(Datal.Recordset.Fields!gdl4 > Datal .Recordset.Fields!gdh4) Then
Select Case Datal.Recordset.Fields!gdl4
Case Is <= 40
x4 =1
“Case 40'To 57
x4 =4
Casels> 57
x4=5
End Select
End If

PRI
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[f (Datal.Recordset.Fields!gdm4 >= Datal .Recordset.Fields!gdl4) And
(Datal.Recordset.Fields!gdm4 > Datal.Recordset.Fields!gdh4) Then
Select Case Datal.Recordset.Fields!gdm4

Case Is <= 60

x4=3

Case 60 To 75

x4=5

CaseIs> 75

x4=6

End Select

End If

If (Datal.Recordset.Fields!gdh4 >= Datal .Recordset.Fields!gdl4) And
~(Datal.Recordset.Fields!gdh4 >= Datal.Recordset.Fields!gdm4) Then - .« v v vviiair v s
Select Case Datal.Recordset.Fields!gdh4 '
Case Is <= 170

x4=3

Case 70 To 87

x4=5

Case Is> 87

x4=6

End Select

End If

If (Datal.Recordset.Fields!gdl5 > Datal.Recordset.Fields!gdmS) And

(Datal.Recordset.Fields!gdl5 > Datal.Recordset.Fields!gdh5) Then

x5=1

End If

. .If (Data] .Recordset.Fields!gdm5 >= Data}.Recordset.FieldslgdIS) And . | .. ..« oeoroir e ames
(Datal.Recordset.Fields!gdm5 > Datal.Recordset.Fields!gdhS) Then ‘

x5=2

End If

If (Datal.Recordset.Fields!gdh5 >= Datal.Recordset.Fields!gdlS) And

(Datal.Recordset.Fields!gdh5 >= Datal.Recordset.Fields!gdm5) Then

x5=2

End If

If (Datal .Recordset.Fields!gdl6 > Datal.Recordset.Fields!gdm6) And
(Datal.Recordset.Fields!gdl6 > Datal.Recordset.Fields!gdh6) Then
Select Case Datal.Recordset.Fields!gdl6
Case Is<=10
x6=1
CaseIs> 10

x6=2

" End Select
End If
If (Datal.Recordset. Fields!gdm6 >= Datal.Recordset.Fields!gdl6) And
(Datal .Recordset.Fields!gdm6 > Datal.Recordset.Fields!gdh6) Then

Mgl AL AT



End If
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Select Case Datal.Recordset.Fields!gdm6

~Case.ls<=25.

x6=2

CaseIs>25

x6=3

End Select

End If

If (Datal.Recordset.Fields!gdh6 >= Datal Recordset.Fields!gdl6) And
(Datal.Recordset.Fields!gdh6 >= Datal.Recordset.Fields!gdmé6) Then
x6=3 '

End If

If (Datal.Recordset.Fields!gdl7 > Datal.Recordset.Fields!gdm7) And
(Datal.Recordset.Fields!gdl7 > Datal.Recordset.Fields!gdh7) Then
Select Case Datal.Recordset.Fields!gdl7

CaseIs <=45

X1=10 o
Case Is> 45

x7=3

End Select

End If

If (Datal.Recordset.Fields!gdm7 >= Datal.Recordset.Fields!gdl7) And
(Datal.Recordset.Fields!gdm?7 > Datal.Recordset.Fields!gdh7) Then
x7=3

End If

If (Datal.Recordset.Fields!gdh7 >= Datal.Recordset.Fields!gdl7) And
(Datal.Recordset.Fields!gdh7 >= Datal.Recordset.Fields!gdm7) Then
x7=3

End If

If (Datal Recordset.Fields!gdl8 > Datal .Recordset.Fields!gdm8) And
(Datal.Recordset.Fields!gdl8 > Datal .Recordset.Fields!gdh8) Then

el "

End If

If (Datal.Recordset.Fields!gdm8 >= Datal.Recordset.Fields!gdl8) And
(Datal.Recordset.Fields!gdm8 > Datal.Recordset Fields!gdh8) Then
x§ =4

End If

If (Datal .Recordset.Fields!gdh8 >= Datal.Recordset.Fields!gdl8) And
(Datal.Recordset.Fields!gdh8 >= Datal.Recordset.Fields!gdm8) Then
x8=4

End If

If (Datal .Recordset.Fields!gdl9 > Datal.Recordset.Fields!gdm9) And
(Datal.Recordset.Fields!gdl9 > Datal.Recordset.Fields!gdh9) Then
x9=1

PRI N
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If (Datal.Recordset.Fields!gdm9 >= Datal .Recordset.Fields!gdl9) And

(Datal.Recordset.Fields!gdm9 > Datal.Recordset.Fields!gdh9) Then
X960

End If

If (Datal.Recordset.Fields!gdh9 >= Datal.Recordset.Fields!gdl9) And

(Datal.Recordset.Fields!gdh9 >= Datal.Recordset.Fields!gdm9) Then

x9=6

End If

If (Datal .Recordset.Fields!gdl10 > Datal.Recordset.Fields!gdm10) And
(Datal.Recordset.Fields!gdl10 > Datal.Recordset.Fields!gdh10) Then
x10=1

End If

If (Datal.Recordset.Fields!gdm10 >= Datal .Recordset.Fields!gdl10) And
(Datal.Recordset.Fields!gdm10 > Datal.Recordset.Fields!gdh10) Then
Select Case Datal.Recordset.Fields!gdm10

Case [s <= 40

x10=1

CaSC_IS g 40 . . . S e . . o .. e e e , R T N P X I SRV AN |
x10=7

End Select

End If _

If (Datal .Recordset.Fields!gdh10 >= Datal.Recordset.Fields!gdl10) And
(Datal.Recordset.Fields!gdh10 >= Datal .Recordset.Fields!gdm10) Then
x10=7

End If

If (Datal .Recordset.Fields!gdl11 > Datal.Recordset.Fields!gdm11) And
(Datal.Recordset.Fields!gdl11 > Datal Recordset.Fields!gdh11) Then
Select Case Datal.Recordset.Fields!gdl11

CaseIs<=15

x11=1

CaseIs> 15

XI ;1 = 4. . L. . e . . . Coe e e .: R P L LI TR WL R RN
End Select

End If

If (Datal .Recordset. Fields'gdm11 >= Datal .Recordset.Fields!gdi11) And
(Datal.Recordset.Fields!gdm!1 > Datal.Recordset.Fields!gdhl 1) Then
Select Case Datal.Recordset.Fields!gdm11

Case Is <= 35

xl1=4

CaseIs> 35

xl1=5

End Select

End If

If (Datal.Recordset.Fields!gdh1 1 >= Datal.Recordset.Fields!gdl1 1) And
(Datal.Recordset.Fields!gdhl1 >= Datal .Recordset.F ields'gdm11) Then
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Select Case Datal.Recordset.Fields!gdhl 1
Case Is <= 60

xI1=5

Case Is> 60

End Select
End If

If (Datal .Recordset.Fields!gdl12 > Datal.Recordset.Fields!gdm12) And
(Datal .Recordset.Fields!gd[12 > Datal.Recordset.Fields!gdh12) Then -
x12=1
End If
If (Datal.Recordset.Fields!gdm12 >= Datal.Recordset.Fields!gdl12) And
(Datal.Recordset.Fields!gdm12 > Datal.Recordset.Fields!gdh12) Then
x12=3
End If
If (Datal.Recordset.Fields!gdh12 >= Datal.Recordset.Fields!gdl12) And
(Datal.Recordset.Fields!gdh12 >= Datal.Recordset.Fields!gdm12) Then
xI2=3°

“EpdIf - 0 - C S L I TP

If (Datal.Recordset.Fields!gdl13 > 0) Or (Datal .Recordset.Fields!gdm13 > 0) Or
(Datal.Recordset.Fields!gdh13 > 0) Then

x13=8 '

End If

If (Datal.Recordset.Fields!gdl14 > Datal .Recordset.Fields!gdm14) And
(Datal.Recordset.Fields!gdl14 > Datal .Recordset.Fields!gdh14) Then
xl4=1

End If

If (Datal.Recordset.Fields!gdm14 >= Datal.Recordset.Fields!gdl14) And
(Datal .Recordset.Fields!gdm14 > Datal.Recordset.Fields!gdh14) Then
Select Case Datal.Recordset.Fields!gdm14

Case [s <=45

Case [s > 45 '
xl4=6

End Select

End If

If (Datal .Recordset.Fields!gdh14 >= Datal.Recordset.Fields!gdl14) And
(Datal.Recordset.Fields!gdh14 >= Datal.Recordset.Fields!gdm14) Then
Select Case Datal.Recordset.Fields!gdhl4

Case Is<=70

xl4=3

CaseIs>70

xl4=6

End Select
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If (gt > ga) And (gt > gz) And (gt > gs) Then
Select Case gt
~Casels>gh . .
If (x6 = 6) Or (x1 = 6) Then
("3t s b 4 el g by ") MsgBox
Else '
If (x2 =5) Or (x1 =5) Then
("3 US4 Jiel s 5ley)") MsgBox
Else
If x1 =4 Then
("33 g il 4 Sl ol g Sy ") MsgBox
Else
If x1 =3 Then
("3 dday 4 5l 3y )y o sie Sl b S 5 5e LS ) MsgBox
End If
If x6 = 3 Then
U o US LS 5 3y YL oS) iy Jaw siarciad by (6 JUS (51eS A") MsgBox
L ey Sl ) s
End If
If x7=3 Then
S5 b T e iy i g WU 81 g oS Cad G B S ) MsgBox
(" adayy
End If
Ifx0 =3 Then
40 5 3 o e a3l YU 051y oS a2 4 4a") MisgBox
("3 N alay
End If
If x2 =3 Then
("2 Aliay 43 5 O a8 Ly 245 | daa e Call L") MsgBox
End If
Ifx12=3 Then
("33 Abeay 4y 5l o) | da gie ciad S8, US") MsgBox
End If
"If X6 =2 Then

("3 3% 3 AU oS AS) 5 g s e 02 | YU oS0 iy S il b g LS & ) MsgBox

End If

Else )

(" ot Y (el g dadad Of 2") MsgBox
End If

Case Is=gh

PR Y RN TR AR



Case Is < gh

.En.d Sel-ec-t . - . e e . . P ... Ve e mem .: B et g Ry s et
End If

End If _ &

End Sub

calculate.frm 4ol y »j

()Private Sub Command!_Click
Dim gn, gpci, gl0, gll, gl2, g3, gl4, gl5, gl6, gl7, gl8, gl9, gl10, gl11, gl12, gl13, gl14 As
Single '
Dim gm0, gml, gm2, gm3, gm4, gm5, gm6, gm7, gm8, gm9, gm10, gm!1, gm12, gml3,
gml4 As Single
“Dim ghO0, ghl, gh2, gh3, gh3, gh3, gh6, gh7, gh8, gh9, gh10, ghl1, ghl2, ghl3, ghld As™
Single
Dim x As Integer
gn=0
gpci =0
x=0
glo=0
gll=0
gl2=0
gl3=0
gld=0
gl5=0
gle=0
gl7=0
gl8§=0
.glg — O - . . .. “ PRI . . .. .. ee e e _: N N PR S PR U TR S T
gll0=0
glll =0
gll2=0
gll3=0
gll4=0
gm0 =0
gm] =0
gm2 =0
gm3 =0

PR I R PR e
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ghl4=0
" " & Datal.Recordset.FindFirst "gvcode =" & Textl.Text
(Do While (Datal.Recordset.NoMatch = False) And (x =0
If Datal.Recordset.Fields!vpci < "" Then
gpci = gpei + Datal.Recordset.Fields!vpci
gl0 = gl0 + Datal.Recordset.Fields!dl0
gll =gll + Datal.Recordset.Fields!dl1
gl2 = gl2 + Datal.Recordset.Fields!d]2
gl3 = gl3 + Datal.Recordset.Fields!dl3
gl4 = gl4 + Datal.Recordset.Fields!dl4
gl5 = gl5 + Datal.Recordset.Fields!dl5
glé = gl6 + Datal.Recordset.Fields!dl6
gl7 = gl7 + Datal .Recordset.Fields!dl7
gl8 = gl8 + Datal .Recordset.Fields!dI8
~gl9 = g9 + Datal.Recordset.Fields!d}l9 - Ce B e b
gl10 =gl10 + Datal.Recordset. erlds'dllO
glll =gll1 + Datal.Recordset.Fields!dI11
gl12 =gl12 + Datal.Recordset.Fields!dl12
gl13 = gl13 + Datal.Recordset.Fields!dl13
gl14 = gl14 + Datal .Recordset.Fields!dl14
gm0 = gm0 + Datal.Recordset.Fields!dmO
gml =gml + Datal .Recordset.Fields!dml
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gm?2 = gm?2 + Datal.Recordset.Fields!dm2
gm3 = gm3 + Datal.Recordset.Fields!dm3
gmd4 = gm4 + Datal .Recordset.Fields!dm4
gm5 = gm5 + Datal.Recordset.Fields!dm5
gm6 = gm6 + Datal.Recordset.Fields!dm6
gm7 =gm7 + Datal.Recordset.Fields!dm?7
gm8 = gm8 + Datal.Recordset.Fields!dm8
gm9 = gm9 + Datal.Recordset.Fields!dm9
gm10 = gm10 + Datal.Recordset.Fields!dm10
gmll=gmll + Datal.Recordset.Fields!dm11
~gml12 =gml2 + Datal Recordset.Fields!dm12 G e ey e et s ot

gml13 =gml3 + Datal.Recordset.Fields!dm13 '
gml4 = gm14 + Datal .Recordset.Fields!dm14
gh0 = gh0 + Datal.Recordset.Fields!dhO
ghl = ghl + Datal.Recordset.Fields!d1
gh2 = gh2 + Datal.Recordset.Fields!dh2
gh3 = gh3 + Datal.Recordset.Fields!dh3
ghd = gh4 + Datal .Recordset.Fields!dh4
ghS = gh5 + Datal .Recordset.Fields!dh5
gh6 = gh6 + Datal .Recordset.Fields!dh6
gh7 = gh7 + Datal .Recordset.Fields!dh7
gh8 = gh8 + Datal.Recordset.Fields!dh8
gh9 = gh9 + Datal .Recordset.Fields!dh9
gh10 = ghl0 + Datal.Recordset.Fields!dh10
ghll =ghl1 + Datal.Recordset.Fields!dh11
.ghl2=ghl2 + Datal .Recordset.Fields!dh]2
ghl3 = ghl3 + Datal .Recordset.Fields!dh13
ghl4 = ghl4 + Datal .Recordset.Fields!dh14
gn=gn+1
" " & Datal .Recordset.FindNext "gvcode =" & Text].Text
Else
("C.L-J PR d,‘lAS:! _)-E:I.\JJA Axtad C'_ILDM‘") MsgBox
x=1
""=Text].Text
calculate.Hide
End If
Loop
[fx=0Then
[fgn=0 Then
("C_I—" 2% .\J“, bl..ﬁ.:a\ Antad .‘.S") I\/IsgBox
"" = Textl.Text
" “Textl.SetFocus
~ Else
" " & Data2.Recordset.FindFirst "ghcode =" & Textl.Text
Data2.Recordset.Edit
Data2.Recordset.Fields!tpcig = gn
Data2 Recordset.Fields!pcig = gpci / gn

vaesmnbl g g s ety
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Data2.Recordset.Fields!gdl0 = gl0 / gn
Data2.Recordset.Fields!gdll = gl1 / gn
Data2.Recordset.Fields!gdI2 = gl2 / gn
Data2.Recordset.Fields!gdl3 = gl3 / gn
Data2.Recordset.Fields!gdl4 = gl4 / gn
Data2.Recordset.Fields!gdlS = gl5 / gn
Data2.Recordset.Fields!gdl6 = gl6 / gn
Data2.Recordset.Fields!gdl7 = gl7 / gn
Data2.Recordset.Fields!gdI8 = gl8 / gn
Data2 Recordset.Fields!gdl9 = gl9 / gn
Data2.Recordset.Fields!gdl10 = gl10/ gn
Data2.Recordset.Fields!gdl11 = gll1 / gn
~"Data2.Recordset. Fields!gdl12 =gl12/gn~
Data2.Recordset.Fields!gdl13 = gl13/ gn
Data2.Recordset.Fields!gdl14 = gl14 / gn
Data2.Recordset.Fields!gdm0 = gm0/ gn
Data2.Recordset.Fields!gdm1l = gm1 / gn
Data2.Recordset.Fields!gdm2 = gm2 / gn
Data2.Récordset.Fields!gdm3 = gm3 / gn
Data2.Recordset.Fields!gdm4 = gm4 / gn
Data2.Recordset.Fields!gdm5 = gm5 / gn
Data2.Recordset.Fields!gdmé = gmé6 / gn
Data2.Recordset.Fields!gdm7 = gm7 / gn
Data2.Recordset.Fields!gdm8 = gm8 / gn
Data2.Recordset.Fields!gdm9 = gm9 / gn

Data2.Recordset.Fields!gdm10 = gm10/ gn
Data2.Recordset.Fields!gdm11 =gml1/gn
~Pata2.Recordset.Fields!gdm12 =gm12/ gn
Data2.Recordset.Fields!gdm13 = gm13 / gn
Data2.Recordset.Fields!gdm14 = gm14 / gn

Data2.Recordset.Fields!gdhO = gh0 / gn
Data2.Recordset.Fields!gdhl = ghl / gn
Data2.Recordset.Fields!gdh2 = gh2 / gn
Data2.Recordset.Fields!gdh3 = gh3 / gn
Data2.Recordset.Fields!gdh4 = gh4 / gn
Data2.Recordset.Fields!gdhS = gh5 / gn
Data2.Recordset.Fields!gdh6 = gh6 / gn
Data2.Recordset.Fields!gdh7 = gh7 / gn
Data2.Recordset.Fields!gdh8 = gh8/ gn
Data2 .Recordset.Fields!gdh9 = gh9/ gn
Data2 .Recordset.Fields!gdh10 = gh10 / gn
Data2 Recordset.Fields!gdhl1 = ghll/gn
.Data2 Recordset.Fields!gdh12 = ghl2 / gn
Data2.Recordset.Fields!gdhl13 = ghl3 / gn
Data2 Recordset.Fields!gdhl14 = ghl4 / gn
Data2.Recordset.Update
message.Label6.Visible = True

L LY T L Y
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message.Label2.Caption = Textl.Text
message.Label4.Caption = gpci / gn
message.Show.

"' =Textl.Text

calculate.Hide

End If

End If

End Sub

()Private Sub Command2_Click
" =Textl.Text

calculate.Hide

End Sub

“(Private’Sub Texfl_KeyPress(KeyAscii'As Integer

[f KeyAscii = 13 Then
Command].SetFocus
End If

End Sub’

()Private Sub Command!_Click

Dim gn, gpci As Single

Dim x As Integer

gn=0

gpci=0

x=0

m» & Datal.Recordset.FindFirst "nscode =" & Textl.Text

" (Do While (Datal.Recordset.NoMatch = False) And' (x =0 ~

If Datal.Recordset.Fields!pci < "" Then
gpci = gpci + Datal.Recordset.Fields!pci
gn=gn+1l

" " & Datal.Recordset.FindNext "nscode ="' & Textl.Text
Else

(" 0255 e i ) ga 4S04 Sl i) MsgBox
x=1

"" = Textl.Text

calsbk.Hide

End If

Loop

If x =0 Then

If gn =0 Then

(" 028 3 ) ol 4802 ") MsgBox

~M = Textl, Text - :

Text!l.SetFocus
Else

calsbk.frm by o ;

LSJJ}::‘K ?UJ{M-: Q :&-:'»':‘!J:)v-‘..‘,»‘.! e N T e
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" " & Data2.Recordset.FindFirst "netcode ="' & Textl.Text
Data2.Recordset.Edit
Data2.Recordset.Fields!mpsh = gpci / gn
Data2.Recordset.Update
message.Label8.Visible = True
message.Label2.Caption = Text1.Text
message.Label4.Caption = gpci / gn
message.Show
W =Textl. Text . . e .o . e e ey e ettt o et
calsbk.Hide :
End If
End If
End Sub

()Private Sub Command?2_Click
""" =Textl.Text

calsbk.Hide

End Sub

(Private Sub Textl_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Command!.SetFocus

End If

Dt A . - . DRI . . o .o L i T TR LTI oY JOVRNpLE SO PETVTRE AR T

calsh.frm 4ol pj

()Private Sub Command1_Click
Dim x As Integer
Dim gn, gpci As Single
gn=20
gpei =0
x=0
" " & Datal.Recordset.FindFirst "sgcode ="" & Textl.Text
(Do While (Datal.Recordset.NoMatch = False) And (x =0
If Datal.Recordset.Fields!pcig < "" Then
gpci = gpci + Datal .Recordset.Fields!pcig
gn=gn+1
" " & Datal.Recordset.FindNext "sgcode =" & Textl.Text e e e e e e o
Else '
("ed 022 JaaS5 yhaia  ga 4aLS Cile D) MsgBox
x=1
"" = Textl.Text
calsh.Hide
End If
Loop
If x=0Then
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If gn =0 Then

("C..\.-u\ 0l Al g oLl AAL .\S") MsgBox

"" = Textl.Text

Text1.SetFocus

Else

" " & Data2.Recordset.FindFirst "shcode =" & Textl.Text

Data2.Recordset.Edit

Data2 Recordset.Fields!tpcig = gn'

Data2.Recordset.Fields!pci = gpci / gn-

Data2.Recordset.Update

- .~message.l.abel7.Visible = True .- - - .o . e e e ek e see e et o her S A
message.Label2.Caption = Text].Text '
message.Label4.Caption = gpci / gn

message.Show

"" = Textl.Text

calsh.Hide

End If

End If

End Sub’

()Private Sub Command2_Click
"" = Text].Text

calsh.Hide

End Sub

. .(Private Sub Textl KCYPI‘CSS(KL}’ASCU As Integer | e ey e e o 2 hats
If KeyAscii = 13 Then '

Command|l.SetFocus

End If

End Sub

midiforml.frm 40l »j

Public o As Integer

()Private Sub MDIForm_Load
0=0

End Sub

()anate Sub mnubrp Click
brp.Show

End Sub

()Private Sub mnuexit_Click
End
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End Sub

()Private Sub mnugh_Click
calculate.Show
calculate.Textl.SetFocus
End Sub

()Private Sub mnumoj_Click
- vahedf.Show

End Sub

()Private Sub mnunew_Click

"" = sazmanf.Text23.Text
“gazmanf.Show ~

End Sub

()Private Sub mnungh_Click
repgh.Show
End Sub

()Private Sub mnunv_Click
vjf.Show
End Sub

(Private Sub mnuopen_Click
o=o0+1

Dim a, b As Integer'

- ~openf.Datal .Recerdset.MoveLast'

a = openf.Datal.Recordset.RecordCount'
openf.Datal.Recordset.MoveFirst'

Forb=1Toa'

(openf.Listl.AddItem (openf.Datal .Recordset.Fields!prcode
openf.Datal.Recordset.MoveNext'

Next'

openf.Show

End Sub

()Private Sub mnush_Click
calsh.Show
calsh.Textl.SetFocus

End Sub

.-()Private Sub mnushb_Click
calsbk.Show
calsbk.Textl.SetFocus
End Sub

R T LA L TRt
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()Private Sub Command1_Click
Labell.Visible = False
Label6.Visible = False
Label7.Visible = False
Label8.Visible = False
message.Hide

End Sub

.()Private Sub Command1_Click ..

messagevj.Hide
End Sub

Public i, k As Integer

()Private Sub Command2_Click
netsf.Hide

If netsf.Text11.Text = "f1" Then
newf.Optionl.Enabled = True
End If

If netsf. Textl1.Text = "f2" Then
newf.Option2.Enabled = True

SEndIf L.

If netsf. Text11.Text = "rr" Then
newf.Option3.Enabled = True
End If

newf.Show

End Sub

()Private Sub Command3_Click
shgh.Text26.Text = Text3.Text
Datal.Recordset.Update
shgh.Show

shgh.Label2.Caption = shgh.Text13.Text
1=1
shgh.Label4.Caption = i

_shgh.Command5 Enabled = False | |
"3 43" = shgh.CommandS.Caption

netsf.Hide
End Sub

message.frm doli v »j

messagevj.frm dobliy pj

netsf.frm by »j
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()Private Sub Form_Activate
Datal.Recordset. AddNew

If newf.Optionl.Value = True Then
"Textl1.Text ="fl

End If

If newf.Option2.Value = True Then
"Textl 1. Text="{2

End If

If newf.Option3.Value = True Then
"Textl1.Text="rr

End If

Text2. Text = sazmanf. Text23.Text
Text]l.Text = Text2.Text + "-" + Text11.Text
shgh.Text13.Text = Text].Text

~Text3.SetFocus -

End Sub

()Private Sub Text3_Change
[f Val(Text3.Text) <=0 Then
Command3.Enabled = False
Else

Command3.Enabled = True
End If

End Sub

(Private Sub Text3_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text4.SetFocus

End If

End Sub

~{Private.Sub Text4_KeyPress(KeyAscii.As Integer .

If KeyAscii = 13 Then

TextS.SetFocus

End If

End Sub

(Private Sub Text5_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text6.SetFocus

End If

End Sub

(Private Sub Text6_KeyPress(KeyAscii As Integer
[f KevAscii = 13 Then

Text7.SetFocus

End If

End Sub

_(Private Sub Text7_KeyPress(KeyAscii As Integer

If KeyAscii = 13 Then
Text8.SetFocus
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End Sub

(Private Sub Text8 KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text9.SetFocus

End If

End Sub

(Private Sub Text9_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text10.SetFocus

End If

End Sub

(Private Sub Text10_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Command3.SetFocus

End Sub

- -

newf.frm doliy v j

()Private Sub Command1_Click
netsf.Show

If Optionl.Value = True Then
netsf.Labell.Visible = True
netsf.Label14.Visible = False
netsf.Labell5.Visible = False
Optionl.Enabled = False

End If

If Option2.Value = True Then

© “detsfLabéll.Visible=False 7" T T e e

netsf.Label14.Visible = True
netsf.Labell5.Visible = False
Option2.Enabled = False

End If '

If Option3.Value = True Then
netsf.Labell.Visible = False
netsf.Label14.Visible = False
netsf.Label15.Visible = True
Option3.Enabled = False

End If

newf.Hide

End Sub

()Private Sub Command?2_Click
newf.Hide

-sazmanf.Datal.Recordset. MoveLast -~ - - e e e e s

sazmanf.Datal .Recordset.Edit
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sazmanf.Show
()Private Sub Form_Activate
If (Optionl.Enabled = False) Or (Option2.Enabled = False) Or (Option3.Enabled = False)
Then
Command2.Visible = False
Commandl.Left = 1100
Command1.Enabled = False
End If
End Sub

(Private Sub Framel DragDrop(Source As Control, X As Single, Y As Single
End Sub

()Private Sub Option3_Click

~Command]l.Enabled = True O, A e e b ee et ot e
Command|1.SetFocus ' '
End Sub”

()Private Sub Optionl_Click

Command|1.Enabled = True

Command]1.SetFocus

End Sub

()Private Sub Option2_Click

Command]l.Enabled = True

Command|1.SetFocus

End Sub

openf.frm 4ol y v ;

()Private Sub Commandl_Click

~(Textl:Text = Listl.List(List].ListIndex - o T e e et et g et
opsazf.Datal .Recordset.MoveFirst _

" " & opsazf.Datal .Recordset.FindFirst "prcode =" & openf.Text].Text

openf.Hide

opsazf.Show

End Sub

()Private Sub Command2_Click

openf.Hide

End Sub

(Private Sub Form_Activate
Dim a, b As Integer
openf.Datal.Recordset.MoveLast
a = openf.Datal.Recordset.RecordCount
openf.Datal.Recordset.MoveFirst
~Eorb=1Toa . . e . . r e e e e et eeste o e AT
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(openf.Listl.AddItem (openf.Datal.Recordset.Fields!prcode

openf.Datal.Recordset. MoveNext

~Next - - . . .

End Sub

()Private Sub Command2_Click
Labell.Visible = False
Labell4.Visible = False
Labell5.Visible = False
opnetsf.Hide

End Sub

(Private Sub Text3_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Textd.SetFocus

~EndIf -

End Sub x

(Private Sub Text4_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

TextS.SetFocus

End If

End Sub

(Private Sub Text5_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text6.SetFocus

End If

End Sub

(Private Sub Text6_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text7.SetFocus

VEndlIf o, L

End Sub

(Private Sub Text7_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text8.SetFocus

End If

End Sub

(Private Sub Text8_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text9.SetFocus

End If

End Sub

(Private Sub Text9_KeyPress(KeyAscii As Integer
[f KeyAscii = 13 Then

Text10.SetFocus

-

opnetsf.frm by vj

venals o e At
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End If
End Sub

(Private Sub Text10_KeyPress(KeyAscii As Integer

If KeyAscii =13 Then
“Command?2.SétFocus

End If

End Sub

()Private Sub Commandl_Click
opnetsf.Datal.Recordset. MoveFirst

If Optionl.Value = True And Optionl.Enabled = True Then

opnetsf.Labell.Visible = True
Optionl.Enabled = False
End If

If Option2.Value = True And Option2.Enabled = True Then

opnetsf.Labell4.Visible = True
Option2.Enabled = False
“Endlf - - -

If Option3.Value = True And Option3.Enabled = True Then

opnetsf.Label15.Visible = True
Option3.Enabled = False
End If

opnewf.frm <ol y v

If Optionl.Enabled = False And Option2.Enabled = False And Option3.Enabled = False Then

opnewf.Hide
End If

" " & opnetsf.Datal.Recordset.FindFirst "netcode =" & opnewf. Text2.Text

opnetsf.Show
End Sub

()Private Sub Command2_Click
opnewf.Hide

End Sub

()Private Sub Option!_Click

"Textl.Text = "fl

Text2.Text = openf.Textl.Text + Text]l.Text
End Sub

(OPrivate Sub Option2_Click
"Textl.Text="f2

Text2.Text = openf. Textl. Text + Textl. Text

End Sub

RIS AR O

R e
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()Private Sub Option3_Click
"Textl.Text ="rr
Text2.Text = openf.Text].Text + Textl.Text

End Sub

“()Privaté Sub Cofnmand1_Click "

opsazf.Hide
opnewf.Show
End Sub

()Private Sub Command2_Click
opsazf.Hide
End Sub

(Private Sub Textl_KeyPress(KeyAscii As Integer
[f KeyAscii = 13 Then

Text2.SetFocus

End If

End Sub

(Private Sub Text2 KeyPress(KeyAscu As Integer
~[f KeyAsoii = 13-Then . .

Text23.SetFocus

End If

End Sub

(Private Sub Text23_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text3.SetFocus

End If

End Sub

(Private Sub Text3_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text8.SetFocus

End If

End Sub

(Private Sub Text8_KeyPress(KeyAscii As Integer

Jf KeyAscii = 13 Then

Text9.SetFocus

End If

End Sub

(Private Sub Text9_KeyPress(KeyAscii As Integer
[f KeyAscii = 13 Then

Text4.SetFocus

End If

End Sub

opsazf.frm doliy v j

[T TES
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(Private Sub Text4_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text5.SetFocus

End If

End Sub

(Private Sub Text5_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text6.SetFocus

End If

End Sub

" "(Private’Sub Texi6_KeyPress(KeyAscii As Integer

If KeyAscii = 13 Then

Text7.SetFocus

End If

End Sub

(Private Sub Text7_KeyPress(KeyAscii As Integer
If KeyAscii =13 Then

Text10.SetFocus

EndIf ~

End Sub

(Private Sub Text10_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Textl1.SetFocus

End If

End Sub

“(Private’Stub Textl 1 _KeyPress(KeyAscii As Integer

If KeyAscii = 13 Then

Text]12.SetFocus

End If

End Sub :

(Private Sub Text12_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text13.SetFocus

End If

End Sub

(Private Sub Text13_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text14.SetFocus

End If

End Sub

~(Private-Sub Text14_KeyPress(KeyAseii As Integer-

If KeyAscii = 13 Then

Text15.SetFocus

End If

End Sub

(Private Sub Text15_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

SRR L LR E TN
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Text16.SetFocus

End If

End Sub

(Private Sub Text16_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text17.SetFocus

End If

End Sub

(Private Sub Text17_KeyPress(KeyAscii As Integer
If KeyAscii =13 Then

Text18.SetFocus

\End If ~ -

End Sub

(Private Sub Text18_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text19.SetFocus

End If

End Sub

(Private Sub Text19_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text20.SetFocus

End If

End Sub

(Private Sub Text20_KeyPress(KeyAscii As Integer
[f KeyAscii = 13 Then

Text21.SetFocus

~EndIf ..

End Sub

(Private Sub Text21_KeyPress(KeyAscii As Integer
[f KeyAscii = 13 Then

Command]1.SetFocus

End If

End Sub

()Private Sub Commandl_Click

" " & Datal.Recordset.FindFirst "prcode =" & Text23.Text

If Datal .Recordset.NoMatch = True Then
Datal .Recordset. AddNew'
Datal.Recordset.MoveLast
Datal.Recordset.Edit

~Text22.Text = Text23.Text .
Datal .Recordset.Fields!prcode = Te‘(t22 Text
Datal.Recordset.Update
sazmanf.Hide
newf.Show
("t g ST e S nas") Else: MsgBox

sazmanf.frm <ol y o j
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End If

newf.Command!.Visible = True
newf.Commandl.Enabled = True
newf.Command2.Visible = True
newf.Commandl.Left = 1920
newf.Command!.Top = 2160
End Sub

()Private Sub Command2_Click
sazmanf.Hide

End Sub

()Private Sub Form_Activate
_Data] .Recordset. AddNew
End Sub

()Private Sub Text2_LostFocus

If Val(Text2.Text) <= 0 And (Text2.Text < "0") Then
("2 paalall pads jy aia Wll") MsgBox
Text2.SetFocus

End If

End Sub

(Private Sub Text23_Change
If Len(Text23.Text) <=0 Then
Commandl.Enabled = False
Else
Command].Enabled = True
End Sub
(Private Sub Textl_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text2.SetFocus
End If
End Sub
(Private Sub Text2_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text23.SetFocus
End If
End Sub
(Private Sub Text23 KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text3.SetFocus
End If -, . -
End Sub
(Private Sub Text3_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Mol o Bal NP Sl y
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Text8.SetFocus
End If
End Sub

(Private Sub Text8_ KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text9.SetFocus

End If

End Sub

- (Private Sub Text9_KeyPress(KeyAscii As Integer

If KeyAscii =13 Then
Text4.SetFocus

End If

End Sub

(Private Sub Text4 KeyPress(KeyAscu As Integer
"1t KeyAscii = 13 Then '

Text5.SetFocus

End If

End Sub

(Private Sub Texts KeyPress(KeyAscu As Integer
If KeyAscii = 13 Then

Text6.SetFocus

End If

End Sub

(Private Sub Text6_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text7.SetFocus

End If

End Sub

(Private Sub Text7 KeyPress(KeyAscu As Integer
+ = I KeyAscii = 13"Then ‘

Text10.SetFocus

End If

End Sub

(Private Sub Text10_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Textl!.SetFocus

End If

End Sub

(Private Sub Textl1_KeyPress(KeyAscii As Integer
[f KeyAscii = 13 Then

Text12.SetFocus

End If

End Sub

(Private Sub Text12 KeyPress(KeyAscu As Integer
~1f KeyAscii = 13.Then . :

Text13.SetFocus
End If

PLTAYTENC AN
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End Sub .

(Private Sub Text13_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text14.SetFocus

End If

End Sub

(Private Sub Text14_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text15.SetFocus

End If

End Sub

(Private Sub Text15_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text16.SetFocus
_EndIf |

End Sub
(Private Sub Text16_KeyPress(KeyAscii As Integer
If KeyAscii =13 Then
Text17.SetFocus
End If
End Sub
(Private Sub Text17_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text18.SetFocus
End If
End Sub
(Private Sub Text18_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text19.SetFocus
End If

-

"7 "EndSub "t T

(Private Sub Text19_KeyPress(KeyAscii As Integer
If KeyAscii =13 Then
Text20.SetFocus
End If '
End Sub
(Private Sub Text20_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text21.SetFocus
End If
End Sub
(Private Sub Text21 KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Command].SetFocus
End If
~End Sub -

S I L VAT D)
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Public i, j, k, | As Integer
()Private Sub Command2_Click
i=i-1
Ifi> 0 Then
Label4.Caption =i
Datal.Recordset.MoveL ast
Datal.Recordset.Delete
Datal.Recordset.MoveLast
Command4.Enabled = False
Else
If i =0 Then
shgh.Hide
netsf.Show
End If
End Sub
()Private Sub Command3_Click
shgh.Hide '
newf.Show
End Sub
()Private Sub Command4_Click
If Option8.Value = True Then
Datal.Recordset.Fields!asf = True
Else
Datal.Recordset.Fields!asf = False
End If
If Optionl.Value = True Then
~Datal.Recordset.Fields!nom = True +-- - o Tt e S e
Else
Datal.Recordset.Fields!nom = False
End If
If Option3.Value = True Then
Datal.Recordset.Fields!noja = True
Else
Datal.Recordset.Fields!noja = False
End If
Datal.Recordset.Fields!shcode = Label2.Caption + "-" + Label4.Caption
Datal.Recordset.Fields!nscode = Label2.Caption
Datal.Recordset.Update
Datal.Recordset.MoveLast
Label42.Caption =i
j=1
. Label43.Caption = j e e Coe e e e e e et ha e

Data3.Recordset. AddNew
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_Command4.Enabled = False
Commandé.Enabled = True
Command?2.Enabled = False
| = Datal .Recordset.Fields!tgh

Text14.Enabled = True
Text15.Enabled = True
Text16.Enabled = True
Textl7 Enabled = True
Text18.Enabled = True
Text19.Enabled = True
Text20.Enabled = True
Text21.Enabled = True
Text22.Enabled = True
Text23.Enabled = True
Text24.Enabled = True
“Text25 Eriabled = True R, Ce . R L e——
Text28.Enabled = True
Option6.Enabled = True
Option10.Enabled = True
Optionl 1.Enabled = True
Option12.Enabled = True
Optionl3.Enabled = True
Option14.Enabled = True

Textl.Enabled = False
Text2.Enabled = False
Text3.Enabled = False
Text4.Enabled = False
Text5.Enabled = False
Text6.Enabled = False
-"-Text7.Enabled =False e . . . e e e , L LI ORI
Text8.Enabled = False
Text9.Enabled = False
Text]10.Enabled = False
Textl1.Enabled = False
Text12.Enabled = False
Text27 Enabled = False
Optionl.Enabled = False
Option2.Enabled = False
Option3.Enabled = False
Option4.Enabled = False
Option8.Enabled = False
Option9.Enabled = False
Textl14.SetFocus

fun me s enatt o N ATy
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~()Private Sub Command5 Chck ,
\n\

If Option6.Value = True Then

Data3.Recordset.Fields!asfg = True

Else .

Data3.Recordset.Fields!asfg = False

End If

If Optionl 1.Value = True Then

Data3.Recordset.Fields!nomg = True

‘Else

Data3.Recordset.Fields!nomg = False

End If

If Option13.Value = True Then

Data3.Recordset.Fields!nojag = True

Else

Data3.Recordset.Fields!nojag = False

“EndIf T }

Data3.Recordset.Fields!ghcode = Label2.Caption + "-" + Label42.Caption + "-" +
Label43.Caption

Data3.Recordset.Fields!sgcode = Label2.Caption + "-" + Label42.Caption
Data3.Recordset.Update

Command6.Enabled = False

Command7.Enabled = False

Command2.Enabled = True

Ifi <k Then

CommandS5.Enabled = True

End If

Data3.Recordset.MoveLast

Ifi=k Then
“Commahd5.Enabled =False =~ " o T T e e

Command3.Enabled = True

End If

CommandS5.Enabled = False

4_\,_:\ FEARS !
i=1+1
Ifi <=k Then

Label4.Caption =1i
Datal.Recordset. AddNew
Command5.Enabled = False

Else

shgh.Hide

If (newf.Optionl.Enabled = False) And (newf Optlon2 Enabled = Falsc) And

~(newf. Opti0n3 Enabled = False) Then - . ) s

- . . . .. N T T IR TR Ry PR I VTP W N
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MDIForm1.Show
newf.Optionl.Enabled = True
newf.Option2.Enabled = True
newf.Option3.Enabled = True
Else

newf.Show

End If

EndIf

Text14.Enabled = False
Text15.Enabled = False
Text16.Enabled = False
Text17.Enabled = False
Text18.Enabled = False
Text19.Enabled = False
Text20.Enabled = False
Text21.Enabled = False
Text22.Enabled = False
Text23.Enabled = False
Text24.Enabled = False
Text25.Enabled = False
Text28.Enabled = False
Option6.Enabled = False

" "Option10.Enabled = False

Optionl 1.Enabled = False
Option12.Enabled = False
Optionl3.Enabled = False
Optioni4.Enabled = False

Textl.Enabled = True
Text2.Enabled = True
Text3.Enabled = True
Text4.Enabled = True
Text5.Enabled = True
Text6.Enabled = True
Text7.Enabled = True
Text8.Enabled = True
Text9.Enabled = True
~TFext10.Enabled = True
Textl1.Enabled = True
Text12.Enabled = True
Text27.Enabled = True
Optionl.Enabléd = True
Option2.Enabled = True
Option3.Enabled = True
Option4.Enabled = True
Option8.Enabled = True
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Option9.Enabled = True
End Sub

()Private Sub Command6_Click
j=j-1 |
Ifj > 0 Then
Label43.Caption = j
Data3.Recordset.MoveLast
Data3.Recordset.Delete
Data3.Recordset. MoveLast
Data3.Recordset.Edit
Command?7.Enabled = False
Else
Ifj =0 Then
~Data3.Recordset. MoveLast
Command5.Enabled = False
Command6.Enabled = False
Command?7.Enabled = False
End1f ~
End If
End Sub

(Private Sub Command7_Click

If Option6.Value = True Then
Data3.Recordset.Fields!asfg = True
Else

Data3.Recordset.Fields!asfg = False
End If

If Option11.Value = True Then

__Data3.Recordset.Fields!nomg = True

"Else
Data3.Recordset.Fields!nomg = False
End If
If Option13.Value = True Then
Data3.Recordset.Fields!nojag = True
Else
Data3.Recordset.Fields!nojag = False
End If

Data3.Recordset.Fields!ghcode = Label2.Caption + "-" + Label42.Caption + "-" +

Label43.Caption

Data3.Recordset.Fields!sgcode = Label42.Caption + "-" + Label2.Caption

j=itl

| = Datal.Recordset.Fields!tgh

Ifj=1Then '
“Command7.Enabled = False

End If

-t
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Label43.Caption = j

Data3.Recordset.Update
~DPata3.Recordset. AddNew

Command5.Enabled = False

Text14.SetFocus

End Sub

(Private Sub Form_Activate
Datal.Recordset. AddNew

(k = Val(Text26.Text

i=1

Text1.SetFocus

End Sub

()Private Sub Text22 Change
f (Val(Text22.Text) <= 0) Then.
Command7.Enabled = False
Else f
Ifj=1Then
Command5.Enabled = True
Ifi=k Then
"$m 45" = Command5.Caption
If (newf.Option1.Enabled = False) And (newf.Option2.Enabled
(newf.Option3.Enabled = Falsc) Then
"ol JuS Sle " = Command5.Caption
End If
End If
Else
Command?7.Enabled = True
End If

()Private Sub Text9_Change

If Val(Text9.Text) <=0 Then

Command4.Enabled = False

Else

Command4.Enabled = True

End If

End Sub

(Private Sub Textl_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text2.SetFocus

= False) And
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End If '
End Sub

(Private Sub Text2_KeyPress(KeyAscii As Integer

If KeyAscii = 13 Then

Text3.SetFocus

End If

End Sub

(Private Sub Text3 KeyPress(KeyAscn As Integer

. If Ke-yA.SCll - 13 Then . . . .. e e L -: I ST L N PP IO P

Text4.SetFocus

End If

End Sub

(Private Sub Téxt4_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text5.SetFocus

End If

End Sub

(Private Sub Text5_KeyPress(KeyAscii As Integer
If KeyAscii =13 Then

Text6.SetFocus
End If
End Sub
(Private Sub Text6 KeyPress(KeyAscu As Integer
~JfKeyAscii = 13.Then e Coe . c b e e ee e e e e et o Sut s
Text7.SetFocus '
End If
End Sub

(Private Sub Text7_KeyPress(KeyAscii As Integer
[f KeyAscii = 13 Then

‘Text8.SetFocus

End If

End Sub

(Private Sub Text8_KeyPress(KeyAscii As Integer
If KeyAscii =13 Then

Text9.SetFocus

End If

End Sub

(Private Sub Text9 _KeyPress(KeyAscii As Integer
Text10.SetFocus

End If

End Sub

(Private Sub Text10_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text11.SetFocus

End If

End Sub



(Private Sub Textl1_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text12.SetFocus

End If

End Sub

(Private Sub Text12_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text27.SetFocus

~EndIf. - .

End Sub

(Private Sub Text27_KeyPress(KeyAscii As Integer
If KeyAscii =13 Then

Option9.SetFocus

End If

End Sub

(Private Sub Option9_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then :
Option8.SetFocus

EndIf °

End Sub

(Private Sub Option8_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Option2.SetFocus

. EndIf

End Sub
(Private Sub Option2_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Optionl.SetFocus
End If
End Sub
(Private Sub Optionl_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Option4.SetFocus
End If
End Sub
(Private Sub Option4_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Option3.SetFocus
End If
“End Sub
(Private Sub Option3_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Command4.SetFocus
End If
End Sub
(Private Sub Text14_KeyPress(KeyAscii As Integer
If KeyAscii =13 Then

o $F S byt i D Sy
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Text15.SetFocus
End If
End Sub
(Private Sub Text15_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text16.SetFocus
End If
End Sub
(Private Sub Text16_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
“Textl7.8etFocus”
End If
End Sub
(Private Sub Text17_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text18.SetFocus
End If
End Sub
(Private Sub Text18_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text19.SetFocus
End If
End Sub
(Private Sub Text19_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
~Text20.SetFocus~
End If
End Sub
(Private Sub Text20_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text21.SetFocus
End If
End Sub
(Private Sub Text21_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text22.SetFocus
End If
End Sub
(Private Sub Text22_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
-Text23.SetFocus.
End If
End Sub
(Private Sub Text23 KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text24.SetFocus
End If

R T S D
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" "(Private’Sub Option12_KeyPress(KeyAscii As Integer

s agamah? b el

End Sub

(Private Sub Text24_KeyPress(KeyAscii As Integer
[f KeyAscii = 13 Then

Text25.SetFocus

End If

End Sub

(Private Sub Text25_ KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text28.SetFocus

End If

(Private Sub Text28_KeyPress(KeyAscii As Integer T
If KeyAscii = 13 Then

Optionl10.SetFocus

End If .

End Sub ,

(Private Sub Option10_KeyPress(KeyAscii As Integer
[f KeyAscii = 13 Then

Option6.SetFocus

End If '

End Sub

(Private Sub Option6_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Optionl2.SetFocus

End If

End Sub

If KeyAscii = 13 Then
Optionl1.SetFocus
End If
End Sub
(Private Sub Option11_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Optionl4.SetFocus
End If
End Sub
(Private Sub Optionl4 KeyPress(KeyAscii As Integer
[f KeyAscii =13 Then
Optionl3.SetFocus
End If
End Sub
~(Private-Sub Option13_KeyPress(KeyAscti As Integer - T T e s e
[f KeyAscii = 13 Then
[f Command7.Enabled = True Then
Command7.SetFocus
Else
CommandS.SetFocus
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End If
End If
End Sub
(Private Sub Command7 KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text14.SetFocus
End If
End Sub
(Private Sub Command4_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text14.SetFocus
End If
.'\End Sub . . - . e . . . .. L -: LR WL P P VR e

vahedasf.frm by »;

(Private Sub ah_KeyPress(Index As Integer, KeyAscii As Integer
If (Index + 1) <= 14 Then

If KeyAscii = 13 Then

ah(Index + 1).SetFocus

End If

Else

If KeyAscii = 13 Then

Command].SetFocus

End If

End If

(Private Sub al_KeyPress(Index As Integer, KeyAscii As Integer
If Index + 1) <= 14 Then

If KeyAscii = 13 Then

al(Index + 1).SetFocus

End If

Else

If KeyAscii = 13 Then

am(0).SetFocus

End If

End If

End Sub

(Private Sub am_KeyPress(Index As Integer, KeyAscii As Integer
If (Index + 1) <= 14 Then

~If KeyAscii =13-Then C e e e e s s
am(Index + 1).SetFocus

End If

Else

[f KeyAscii = 13 Then



YA

dh(0) = (38.14 * Log(th(0)) / Log(10)) + 50.95
Case 1 To 8
dh(0) = (54.44 * Log(th(0)) / Log(10)) + 51
Casels>8 -
“dh(0) =100
End Select

4 “\

2 Ulilai
(results1.Text]l.Text = dI(0
(resultsl.Text2.Text = dm(0
(resultsl.Text3.Text = dh(0
s i SX e
tl(1) = (al(1) /a) * 100

(Select Case tI(1
Casels<1
(D=0
Case 1 To 7
dl(1) = (7.65 * Log(tl(1)) / Log(10)) + 2.5
Case 7 To 30

di(1y = (17.46 * Log(tl(1)) / Log(10)) - 5.75
Case [s>=3 "

di(1)=20

End Select

-

tm(1) = (am(1) / a) * 100
(Select Case tm(1

Casels <1

dm(1)=0

Case 1 To 6

dm(1) = (19.87 * Log(tm(1))/ Log(10)) + 12.5
Case 6 To 30

©T"dmi(l) = (31.43 ¥ Log(tm(1)) / Log(10)) +73.5

Case [s>=30
dm(1) =50
End Select

th(1) = (ah(1) /a) * 100

(Select Case th(1l

Casels<1

dh(l)=0

Case 1 To 5.5

dh(1) = (14.86 * Log(th(1))/ Log(10)) + 34

Case 5.5 To 30

dh(1) = (35.29 * Log(th(1)) / Log(10)) + 18.88

Case [s>= 130

dh(1) =71
~End Select

Al 1‘/&;1‘4'\_
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(results].Text9.Text = dh(2'

(Select Case tI(3 '
Casels<=1
dl(3)=0
Case 1 To 20 -
((d1(3) = (8.84 * Log(tl(3)) / Log(10
Case 20 To 100
di(3) = (23.03 * Log(tl(3)) / Log(10)) - 18.47
Case Is> 100
di(3) =128
End Select
U -l gia 024 S ) 4
tm(3) =(am(3)/a) * 100
(Select Case tm(3
CaseIs<0.5
Am(3)=0,
Case 0.5 To 8
- dm(3) = (10.46 * Log(tm(3)) / Log(10)) +3.15
Case 8 To 100
dm(3) = (28.17.* Log(tm(3)) / Log(10)) - 12.84
Case Is> 100
dm(3) =44
End Select
ommemmendly ) 20 S L e
th(3) =(ah(3) /a) * 100
(Select Case th(3
Casels <=0
dh(3)=0
Case0To 1
dh(3) = (6.4 * Log(th(3))/ Log(10)) + 6.4
Case 1 To 10
“dh{3) ={23.1 * Log(th(3)) / Log(10)) + 6.4
Case 10 To 100
dh(3) = (43 * Log(th(3)) / Log(10)) - 13.5
Case Is > 100
dh(3)=173
End Select
s e e
(results].Text10.Text = dI(3
(resultsl.Textl1.Text = dm(3
(results].Text12.Text = dh(3
........ (55 SAly ‘:;‘)LB__“).» Sl él_)i--------'
tl(4) = (al(4) / a) * 100
(Select Case tl(4
Case [s <0.1

e
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di4)=0
Case 0.1 To 0.6

di(4) = (1.8 * Log(tl(4)) / Log(10)) + 6.1
Case 0.6 To 20
dl(4) = (22.52 * Log(tl(4)) / Log(10)) + 10.7
Case 20 To 100

“di(4) = (31.47 * Log(tl(4)) / Log(10)) - 0.95
Case Is> 100
di(4) =62
End Select

tm(4) = (am(4) / a) * 100

(Select Case tm(4

Case [s < 0.1

dm(4)=0

Case 0.1 To 0.6

dm(4) = (13.75 * Log(tm(4)) / Log(10)) + 20.15
Case 0.6 To 6

dm(4) =1(22.9 * Log(tm(4)) / Log(10)) + 22.18
Case 6 To 100 '

dm(4) = (30.97 * Log(tm(4)) / Log(10)) + 15.93

- ~Case'ls>100- - .

dm(4) =78
End Select

)l 5 PWELIWPTIL e
th(4) = (ah(4) /'a) * 100
(Select Case th(4
Case[s<0
dh(4)=0
Case 0.1 To 0.5
dh(4) = (14.31 * Log(th(4)) / Log(10)) + 26.81
Case 0.5 To 2
dh(4) = (29.07 * Log(th(4)) / Log(10)) + 31.25
Case 2 To 100
dh(4) = (30.31 * Log(th(4)) / Log(10)) + 30.875
Case Is> 100

~dh(4) =92
End Select
o S g S g A 3 '

(results].Text13.Text = di(4
(resultsl.Text14.Text = dm(4
(resultsl.Text15.Text = dh(4

AS QA ;.}-_}gj, I PE I U
t(3) = (al(s) /1) * 100
(Select Case tl(5
CaseIs <2
dli(5)=0
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Case2To7

di(5) = (9.19 * Log(tl(5)) / Log(10)) - 2.77
Case 7To 30

di(5) = (16.93 * Log(tl(5)) / Log(10)) - 9.31
Case 30 To 100

dI(5) = (23.52 * Log(tl{5)) / Log(10)) - 19.05
Case Is> 100

di(5) =28

End Select

tm(5) = (am(5) / 1) * 100

- \(Select Case tm(s . [, . . e .. e e e .: Wt ca e liiemas el g e R A

Case [s <0.5

dm(5)=0

Case 0.5 To 2

dm(5) = (7.14 * Log(tm(5)) / Log(10)) + 2.15
Case2To 7

dm(5) = (15.07 * Log(tm(5)) / Log(10)) - 0.24
Case 7 To 100

dm(5) =(27.28 * Log(tm(5)) / Log(10)) - 10.55
Case Is> 100

dm(5) =44

End Select

e Gl (e (e e
th(5) =(ah(5)/1) * 100

(Select Case th(5

dh(5)=0 ‘
Case 0.3 To 1.2

dh(5) = (10.8 * Log(th(5)) / Log(10)) + 9.15
Case1.2To7 -

dh(5) = (20.5 * Log(th(5)) / Log(10)) + 8.38
Case 7 To 100

dh(5) = (52.21 * Log(th(5))/ Log(10)) - 18.42
CaseIs> 100 '

dh(5) =86

End Select

(results].Text16.Text = dI(5

(results1.Text17.Text = dm(5

(resultsl.Text]18.Text = dh(5

tl(6) = (al(6) /1) * 100 ’
(Select Case tl(6

Casels<0.4

dl(e)=0

Case 0.4 To 12
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dl(6) =(3.38 * Log(tl(6)) / Log(10)) + 1.35
Case 12 To 60
dl(6) = (14.31 * Log(tl(6)) / Log(10)) - 10.44
Case Is> 60
di(6) =15
End Select
b yia u\\fu\_.‘:;\ 4 P REL I i—
tm(6) = (am(6) / 1) * 100
(Select Case tm(6
Case [s<0.3
dm(6)=0
Case 0.3 To 0.5
~dm(6) = (4.34 * Log(tm(6)) / Log(10))+6.47
Case 0.5 To 60
dm(6) = (17.14 * Log(tm(6)) / Log(10)) - 2.48
Case Is> 60
dm(6) =28
End Select

th(6) = (ah(6) /1) * 100
(Select Case th(6
Case Is<0.3
dh(6)=0
Case 0.3 To 3.3
dh(6) = (4.32 * Log(th(6)) / Log(10)) + 9.26
Case 3.3 To 60
dh(6) = (27.39 * Log(th(6))/ Log(lO)) 2.7
Casels>60 . . -
dh(6) =46
End Select
\:;l 4 \! Js.
(resultsl.Text19. Text =dIl(6
(results].Text20.Text = dm(6
(resultsl.Text21.Text = dh(6
.......... aS il B ad g '
t(7) = (al(7) / a) * 100
(Select Case tl(7
Case Is <0.1
di(7)=0
Case 0.1 To 1.3
dl(7) = (4.48 * Log(tl(7)) / Log(10)) + 4.48
Case 1.3 To 100
dI(7).= (25.98 * Log(tl(7)) / Log(10)) + 2.03
Case Is> 100
di(7) = 54
End Select
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tm(7) = (am(7)/a) * 100
(Select Case tm(7
Case Is < 0.1
dm(7)=0
Case 0.1 To 1.1
dm(7) = (6.72 * Log{tm(7)) / Log(10)) + 8.72
Case 1.1 To 13
dm(7) = (38.22 * Log(tm(7)) / Log(10)) + 7.41
Case 13 To 100
dm(7) = (22.57 * Log(tm(7)) / Log(10)) + 24.85
Case Is> 100
dm(7) =70
End Select
Ay @ty S PO [ —

" Tth(7) = (ah(7) / a) * 100

(Select Case th(7

Case Is < 0.1

dh(7)=0 )

Case 0.1 To 1

dh(7) = (2.4 * Log(th(7)) / Log(10)) + 6.4
Case | To 13

dh(7) = (60.68 * Log(th(7))/ Log(10)) + 6.4
Case 13 To 100

dh(7) = (20.31 * Log(th(7)) / Log(10)) + 51.37
Case Is> 100

dh(7) =92

End Select

....--U.DL__A uﬁ_._‘;bu- --------- '
(results].Text22.Text = dI(7

- (resultst. Text23.Text = dm(7

(results1.Text24.Text = dh(7
CRENEIE PR S—

tl(8) = (al(8) /a) * 100

(Select Case t1(8

Casels<1

di(8)=0

Case 1 To 15

((d1(8) = (2.13 * Log(tl(8)) / Log(10

Case 15 To 100

dl(8) = (21.24 * Log(tl(8)) / Log(10)) - 22.48

Case Is> 100

dI(8) =20

End Select

~tm(8) =(am(8)/a) * 100
(Select Case tm(8
Case [s<0.1



. .(Select Case tI(9
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Case 0.1 To 3 '
dm(8) = (3.38 * Log(tm(8)) / Log(10)) + 3.38
Case 3 To 29

dm(8) = (16.24 * Log(tm(8)) / Log(10)) - 2.75
Case 29 To 100

dm(8) = (35.34 * Log(tm(8)) / Log(10)) - 30.68
Case [s> 100

dm(8) =40

End Select

th(8) = (ah(8) / a) * 100
(Select Case th(8
Case Is <0.1
dh(8)=0

~Case.0.1 Tol. . e Ce e e e e e et et o e e
dh(8) = (4 * Log(th(8))/ Log(10)) + 6 ’
Case 1 To 10
dh(8) = (14 * Log(th(8)) / Log(10)) + 6
Case 10To 100
dh(8) = (50 * Log(th(8)) / Log(10)) - 30
Case Is> 100
dh(8) =73
End Select
e S - A il '
(results]1.Text25.Text = di(8
(results]1.Text26.Text = dm(8
(results].Text27.Text = dh(8

tl(9) = (al(9) / ) * 100

Case Is <0.1

di(9)=0

Case 0.1 To 1

dl(9) = (0.5 * Log(tl(9)) / Log(10)) + 2
Case 1 To 8

dl(9) = (8.86 * Log(tl(9)) / Log(10)) +2
Case 8 To 100

dl(9) = (25.98 * Log(tl(9)) / Log(10)) - 13.46
CaseIs> 100

di(9) =38.5

End Select

tm(9) = (am(9) / a) * 100
(Select Case tm(9
Case Is<0.1 . S
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Case 0.1 To 0.8
dm(9) = (7.2 * Log(tm(9)) / Log(10)) + 12.7
“Case 0.8 To20 - A L. e e e s
dm(9) = (25.04 * Log(tm(9)) / Log(10)) + 14.43
Case 20 To 100
dm(9) = (38.63 * Log(tm(9)) / Log(10)) - 3.26
Case Is> 100
dm(9) =74
End Select
......... JL_.)_} Al EJ____».-----'
th(9) = (ah(9) / a) * 100
(Select Case th(9
Case Is <0.1
dh(9)=0
Case 0.1 To 3
dh(9) = (23.7 * Log(th(9)) / Log(10)) + 33.7
Case 3 To 100
dh(g) = (3218 * LOg(th(g)) / LOg(lO))+2965 . . . P T T T L TUT RS ST IOV LN VAP
Case Is > 100 '
dh(9) =94
End Select
zs 4 il '
(results1.Text28.Text = dI(9
(results].Text29.Text = dm(9
(results1.Text30.Text = dh(9
.......... ?5 Gl LfJL S 4l o !
tl(10) = (al(10) /a) * 100
(Select Case tl(10
Case Is <0.3
dl(10)=0
Case 0.3 To 4
dI(10) = (6.22 * Log(tl(10)) / Log(10)) + 3.25
Lase.4To.50 . . e Coe s e e e e s eae et et
dl(10) = (23.7 * Log(tl(10)) / Log(10)) - 7.27 :
Case Is> 50
di(10) = 33
End Select
........ Jn....aj.'u Gl LfJ'\ < a4l sy
tm(10) = (am(10) / a) * 100
(Select Case tm(10
Case s <0.1
dm(10)=0
Case 0.1 To 1
dm(10) = (7 * Log(tm(10)) / Log(10)) + 9
Case I To 8
dm(10) = (19.93 * Log(tm(10))/ Log(10)) +9
Case 8 To 50

'S
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dm(10) = (37.7 * Log(tm(10)) / Log(10)) - 7.04
Case Is> 50
dm(10) =57
“End Select - |
......... .\L_:J Skl A}JL < 41 a !
th(10) = (ah(10)/a) * 100
(Select Case th(10
CaseIs<0.1 °
dh(10)=0
Case 0.1 To 0.3
dh(10) = (8.38 * Log(th(10)) / Log(10)) + 14.38
Case 0.3 To 3
dh(10) = (20 * Log(th(10)) / Log(10)) + 20.46
Case 3 To 50
dh(10) = (40.92 * Log(th(10)) / Log(10)) + 10.48
Case Is> 50
dh(10) =80
End Select
P P\

: (S90) ~A 4 UT'
(results].Text31.Text = dl(10
(results1.Text32.Text = dm(10
(results].Text33.Text = dh(10

oS oty Qi Loy b
ti(11) =(al(11)/a) * 100
(Select Case tl(11
Case [s <0.1
di(11)=0
Case 0.1 To 10
di(11) = (2.5 * Log(tl(11)) / Log(10)) + 2.5
Case 10 To 100
di(11) = (11 * Log(tl(11)) / Log(10)) - 6
Case Is> 100
di(i1)=16

e

;l Al ",

. .EndSelect . . e

SSNRNS NUF PRCITY- FYLH PO S SR S
tm(11) = (am(11)/a) * 100

(Select Case tm(11

Case [s <0.1

dm(11)=0

Case 0.1 To 6

dm(11) =(4.78 * Log(tm(11)) / Log(10)) + 8.78
Case 6 To 100

dm(11) = (25.78 * Log(tm(11)) / Log(10)) - 7.56
Case [s> 100

dm(11) =44

End Select
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th(11)=(ah(11)/a) * 100

(Select Case th(11

Case [s < 0.1

dh(11)=0

“Case 0.1 To 3’
dh(11) =(10.83 * Log(th(11))/ Log(10)) + 16.83
Case 3 To 20
dh(11) =(41.27 * Log(th(11)) / Log(10)) + 2.31
Case 20 To 100
dh(11)=(31.47 * Log(th(11)) / Log(10)) + 15.05
Case Is> 100
dh(11)=78
End Select
...... cllind Lo A '
(results1. Text34. Text = di(1 1
(results].Text35.Text = dm(11
(results].Text36.Text = dh(11
.......... AS el alid S jus '
(12) = (al(12) / a) * 100

-{8elect €ase tI(12
Case [s < 0.4
di(12)=0
Case 0.4 To 6
dl(12) = (12.75 * Log(tl(12)) / Log(10)) + 5.07
Case 6 To 50
di(12) = (22.81 * Log(tl(12)) / Log(10)) - 2.75
Case Is> 50
dl(12) =36
End Select
Y ZX U FRLA FW I S PR '
tm(12) = (am(12) / a) * 100
(Select Case tm(12
Case Is < 0.1
dm(12)=0

-Case.0.L To 0.5 . C e
dm(12) = (1.43 * Log(tm(12))/ Log(10)) +4.43
Case 0.5To 6
dm(12) =(21.31 * Log(tm(12))/ Log(10)) + 10.42
Case 6 To 50 -
dm(12) = (40.18 * Log(tm(12))/ Log(10)) - 4.27
Case [s > 50
dm([2) =64
End Select
——————- ) st alid S5 s
th(12) = (ah(12) /a) * 100
(Select Case th(12
Case Is < 0.1
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dh(12)=0

Case 0.1 To 0.5

dh(12) = (7.87 * Log(th(12)) / Log(10)) + 14.87
Case 0.5 To 3

dh(12) = (22.49 * Log(th(12))/ Log(lO)) +19.27
“Case3To'50

dh(12) = (40.92 * Log(th(12)) / Log(10)) + 10.48
Case Is> 50

dh(12) =80

End Select

(results].Text37.Text = dI(12
(results]1.Text38.Text = dm(12
(results1.Text39.Text = dh(12
.......... oS Aty ol y ALY i e
ti(13) = (al(13) /1) * 100
(Select Case tI(13
Casels<1.5
di(13) =0
Case 1.5To 10
~dI(13) =(1.21 * Eog(tl(13)) / Log(10))+ 179
Case 10 To 50
di(13) =(18.6 * Log(tl(13)) / Log(10)) - 15.6
CaseIs> 50
di(13)=16
End Select
U *WP PRLIL A FIY P LS ol '
tm(13) =(am(13) /1) * 100
(Select Case tm(13
Casels<1.5
dm(13)=0
Case 1.5To 7
dm(13) =(2.99 * Log(tm(13)) / Log(10)) + 3.47
Case 7 To 20
dm(13) = (12.06 * Log(tm(13))/ Log(10)) - 4.19
-Case.20.To 50 .
dm(13) = (38.95 * Log(tm(13))/ Log(lO)) 39.18
Case Is> 50
dm(13) =27
End Select
S, ) adlel ja U Casaliieena-
th(13) = (ah(13) /1) * 100
(Select Case th(13
Casels< 1.5
dh(13)=0
Case 1.5To 5
dh(13)=(3.82 * Log(th(13))/ Log(10)) +5.32
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Case 5 To 20 '

“dh{13) = (26.58 ¥ Log(th(13)) / Log(10)) - 10.58
Case 20 To 50
dh(13) = (50.26 * Log(th(13)) / Log(10)) - 41.39
Case Is> 50
dh(13) = 44
End Select

of y A 3LS i Al
(results1.Text40.Text = dI(13
(results].Text41.Text = dm(13
(results1.Text42.Text = dh(13
S pS Sy ol o ol8 538 e '
ti(14) = (al(14) / a) * 100
(Select Case tl(14
CaseIs<1
di(14)=0

- “Case' ] To4

di(14) = (3.32 * Log(tl(14)) / Log(lO)) +2
Case 4 To 20 7
di(14) = (18.6 * Log(tl(14)) / Log(10)) - 7.19
Case 20 To 50°
dl(14) = (7.54 * Log(tl(14)) / Log(10)) + 7.19
Case Is> 50
dl(14) =20
End Select
[ L..,LQAJL;Q__J‘;\_)»\SJS. ----- !
tm(14) = (am(1)/a) * 100
(Select Case tm(14
Casels<1
dm(14)=0
Case 1 To 4
~dm(14) = (24.91 * Log(tm(14)) /.Log(10))+ 6
Case 4 To 10
dm(14) = (47.75 * Log(tm(14)) / Log(10)) - 7.75
Case 10 To 50
dm(14) = (14.31 * Log(tm(14)) / Log(10)) + 25.69
Case s> 50
dm(14) =50
End Select
SR Ayl o alal a8 )38 e
th(14) = (ah(14) / a) * 100
(Select Case th(14
Casels<1
dh(14)=0
Case 1 To 2.5
dh(14) =(35.18 * Log(th(14))/ Log(10)) + 20

. .Case2.5Toll |
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dh(14) =(55.95 * Log(th(14))/ Log(10)) + 11.74
Case 11 To 50

dh(14) = (15.21 * Log(th(14)) / Log(10)) + 54.16

Lasels>50

" dh.(14) Z 80 " PO . . . SO _: L U I YT PR O Y
End Select

(results1.Text43.Text = dl(14
(resultsl.Text44.Text = dm(14
(resultsl.Text45.Text = dh(14

q=o
tdv=0
Fori=0To 14
If di(i) >= 5 Then
q=q+1
End If
If dm(i) >= 5 Then
q= q + 1.
If dh(i) >= 5 Then
q=q+1
End If
(tdv = tdv + dI(i) + dm(i) + dh(i
Next

Ifq<=1Then
cdv =tdv
End If
If =2 Then
Select Case tdv
Case 10 To 54
cdv=0.773 * tdv - 1.727
Case 54 To 96
-‘QdV'z 0667 * th_ + 4 . PRI . . . . S S L T TR e TN
Case 96 To 128 |
cdv=0.563 * tdv + 14
Case 128 To 166
cdv=0.368 * tdv + 38.842
Case Is> 166
cdv =100
End Select
End If
If =3 Then
Select Case tdv
Case 15 To 60
cdv=10.714 * tdv - 4.857

P L e
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Case 60 To 98
cdv=10.632 * tdv + 0.105
Case 98 To 136
cdv=10.526 * tdv + 10.421
Case 98 To 178
cdv=10.429 * tdv + 23.714
CaseIs> 178

cdv =100

End Select

“EndIf

If q=4 Then

Select Case tdv

Case 20 To 62 .
cdv=0.619 * tdv - 4.381
Case 62 To 118
cdv=0.607 * tdv - 3.643
Case 118 To 162

cdv =0.455 * tdv + 14.364
Case 165 To 180
cdv=0.333 *tdv + 34
Case [s> 180

cdv=0.2 * tdv + 58

End Select

End If

- .\Ifq__v_ 5 Then . - “ DY « . . ., . P T K -: R R A LT T L TER TR, L)

Select Case tdv
Case 25 To 68
cdv=0.636 * tdv - 18.636
Case 68 To 122
cdv=0.556 * tdv - 3.778
Case 122 To 166
cdv=0.455 * tdv + 8.545
Case Is> 166
cdv=10.294 * tdv + 35.176
End Select
End If
If q=6 Then
Select Case tdv
Case 30 To 84

.- C'dV~= 0593 * tdv. - 9778 - .- P . . . R T SR S PR PRI N
Case 84 To 130 '
cdv=0.522 * tdv - 3.826
Case 130 To 170
cdv=0.45*tdv+5.5
Case 170 To 200
cdv=0.267 * tdv + 36.667
End Select
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End If

Ifq>=7 Then

Select Case tdv

Case 35 To 84

cdv =0.593 * tdv - 9.778

Case 84 To 130

cdv =0.522 * tdv - 3.826

Case 130 To 172

cdv=0.13 *tdv +47.148

Case 172 To 200 :
“edv= 07143 * tdv + 53.429 e e Coe . e st b
End Select

End If

If cdv > 100 Then

cdv =100 ‘

End If

pci =100 - cdv

t

message.Label4.Caption = pci
message.Label2.Caption = vahedf. Text10.Text
message.Show

vahedf.DataS.Recordset. MoveLast

vahedf.Data5.Recordset.Edit

vahedf.DataS.Recordset.Fields!vpci = pci
-(vahedfData5.Recordset.Fields!dl0 = dl(0- S R T R R P

(vahedf.Data5.Recordset.Fields!dl1 = dI(1 '

(vahedf.Data5.Recordset.Fields!dl2 = dI(2

(vahedf.DataS.Recordset.Fields!dl3 = dI(3

(vahedf.Data5.Recordset.Fields!dl4 = di(4

(vahedf.DataS.Recordset.Fields!dl5 = dI(5

(vahedf.Data5.Recordset.Fields!dl6 = d1(6

(vahedf.DataS.Recordset.Fields!dl7 = dI(7

(vahedf.DataS.Recordset.Fields!dI8 = dI(8

(vahedf.Data5.Recordset.Fields!dl9 = dI(9

(vahedf.Data5.Recordset.Fields!dl10 = dI(10

(vahedf.DataS.Recordset.Fields!dl11 = dI(11

(vahedf.DataS.Recordset.Fields!dl12 = dI(12

(vahedf.Data5 Recordset.Fields!dl13 = dI(13

(vahedf.DataS.Recordset.Fields!dl14 = dl(14
.(vahedf.Data5.Recordset.Fields!dm0 = dm(0 S e e e vt et s r

(vahedf.Data5.Recordset.Fields!/dm] = dm(l :

(vahedf.DataS.Recordset.Fields!dm2 = dm(2

(vahedf.DataS.Recordset.Fields!dm3 = dm(3

(vahedf.DataS.Recordset.Fields!dm4 = dm(4

(vahedf.DataS.Recordset.Fields!dm5 = dm(5

(vahedf.DataS.Recordset.Fields!dm6 = dm(6
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(vahedf.Data5.Recordset.Fields!dm7 = dm(7
(vahedf.Data5.Recordset.Fields!dm8 = dm(8
(vahedf.Data5.Recordset.Fields!dm9 = dm(9
(vahedf.Data5.Recordset.Fields!dm10 = dm(10
(vahedf.Data5.Recordset.Fields!dm11 = dm(11
(vahedf.Data5.Recordset.Fields!dm12 = dm(12
(vahedf.Data5.Recordset.Fields!dm13 = dm(13
(vahedf.Data5.Recordset.Fields!dm14 = dm(14
(vahedf.Data5.Recordset.Fields!dh0 = dh(0
(vahedf.Data5.Recordset.Fields!dh1 = dh(1
(vahedf.Data5.Recordset.Fields!dh2 = dh(2

~(vahedf.Data5.Recordset.Fields!dh3 =.dh(3 . Ce . v e e eeea e sae oo et ot el

(vahedf.Data5.Recordset.Fields!dh4 = dh(4
(vahedf.Data5.Recordset.Fields!dh5 = dh(5
(vahedf.DataS.Recordset.Fields!dh6 = dh(6
(vahedf.Data5.Recordset.Fields!dh7 = dh(7
(vahedf.Data5S.Recordset.Fields!dh8 = dh(8
(vahedf.DataS.Recordset.Fields!dh9 = dh(9
(vahedf.Data5.Recordset.Fields!dh10 = dh(10
(vahedf.Data5.Recordset.Fields!dh11 = dh(11
(vahedf.Data5.Recordset.Fields!dh12 = dh(12
(vahedf.DataS.Recordset.Fields!dh13 = dh(13
(vahedf.Data5.Recordset.Fields!dh14 = dh(14
vahedf.Data5.Recordset.Update
resultsl.Show

End Sub

ISR N BT LIC Y . . e o, D TT R RN Y JET TR RIFTRS PPN OLAIPE WAV TN D

vahedasf.Hide
End Sub

(Private Sub F‘orm_Load
End Sub

vahedf.frm by v

(Private Sub Command1_Click

Datal.Recordset.MoveFirst

" " & Datal.Recordset.FindFirst "prcode =" & Text7.Text

If Datal.Recordset.NoMatch = True Then

(";.L..J st 2l g ol a_j_,);a .)S") MSgBOX

If (Text5.Text < "f1") And (Text5.Text < "f2") And (Text5 < "rr'") Then
("l 0250 ) g oliil) 48l 2S") MsgBox

Else

Text8.Text = Text7.Text + "-" + Text5.Text + "-" + Text6.Text
Data3.Recordset.MoveFirst
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" " & Data3.Recordset.FindFirst "shcode =" & Text8.Text
If Data3.Recordset. NoMatch = True Then
("ol 025 3 ) g oliid) 48L3S") MsgBox
Else
Text9.Text = Text8.Text + "-" + Text4.Text
Data4.Recordset.MoveFirst
" " & Datad.Recordset.FindFirst "ghcode =" & Text9.Text
If Data4.Recordset.NoMatch = True Then
("l 02l 3l g oLl 42kadx<") MsgBox
Else
If Data4.Recordset.Fields!asfg = True Then
Textl1.Text=1
Else

\Textl I.Text =2 . W et . . . .. e e e .: et €% ian f v ag il o b s ]
End If
Data4.Recordset.MoveFirst
" " & Data4.Recordset.FindFirst "ghcode =" & Text9.Text
If Data4.Recordset.NoMatch = False Then
If Val(Text3.Text) > Data4.Recordset.Fields!tvg Then
(P 22 3 ) 5 oliidl 2al 48") MsgBox
Else
If Val(Text1.Text) <=0 Then
("Cand 225 3 )5 oLi3d 2y Cialia) MsgBox
Else
If Optionl.Value = True Then
Data5.Recordset.Fields!noevahed = 1

Else
Data5.Recordset.Fields!noevahed = 0

Text13.Text = Text7.Text + "-" + Text5. Text + "-" + Text6.Text + "-" +
Textd. Text + "-" + Text3.Text

" " & Data5.Recordset.FindFirst "vcode =" & Text13.Text

If Data5.Recordset.NoMatch = True Then

Data5.Recordset.MoveLast

Data5.Recordset.Edit

Text10.Text = Text9.Text + "-" + Text3.Text
Data5.Recordset.Fields!vcode = Text10.Text
Data5.Recordset.Fields!gvcode = Text9.Text

Data5.Recordset.Update

If Textl1.Text =2 Then
vahedkhf.Show

If Textl1.Text=1 Then
vahedasf.Show
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" vahedasf.Label3.Caption = Text10.Text
End If
vahedf.Hide
Else .
("Gt (5 N S50 s pS") MsgBox
Data5.Recordset. AddNew
" = Text7.Text
" = Text6.Text
"" = Text5. Text
"" =Text4.Text
"" =Text3.Text
End If
End If
End If
End If
EndIf " -
End If
End If
EndIf ~

End Sub

(Private Sub Command2_Click
vahedf.Hide
End Sub

(Private Sub Form_Acfivate
Data5.Recordset. AddNew

. ~EndSub - - -

(Private Sub Text7_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text5.SetFocus
End If
End Sub
(Private Sub Text5_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text6.SetFocus
End If
End Sub
(Private Sub Text6_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then
Text4.SetFocus
JEndIf L
End Sub
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(Private Sub Text4 KeyPress(KeyAscn As Integer

~If KeyAscu = ]13.Then . .. B Y YU R
Text3.SetFocus )
End If
End Sub

(Private Sub Text3_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Textl.SetFocus

End If

End Sub

(Private Sub Textl_KeyPress(KeyAscii As Integer
If KeyAscii = 13 Then

Text12.SetFocus

End If

End Sub

(Private Sub Text12_KeyPress(KeyAscii As Integer

Text2.SetFocus

EndIf ~

End Sub

(Private Sub Text2_KeyPress(KeyAscii As Integer

If KeyAscii = 13 Then ’

Optionl.SetFocus

End If

End Sub

(Private Sub Option]_KeyPress(KeyAscii As Integer

If KeyAscii = 13 Then

Option2.SetFocus

End If

End Sub

(Private Sub Option2_KeyPress(KeyAscii As Integer

If KeyAscii = 13 Then
“Command1.SetFocus

End If

End Sub

) - . . . . R A e B N LR I A Ll I Sl P

vahedkhf.frm by i

(Private Sub ah_KeyPress(Index As Integer, KeyAscii As Integer
If (Index + 1) <=6 Then

If KeyAscii = 13 Then

ah(Index + 1).SetFocus

End If

Else

If KeyAscii = 13 Then

Command]1.SetFocus

Endlf
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End If
End Sub

" "(Private Sub al_KeyPress(Index As Integer, KeyAscii As Integer

If (Index + 1) <= 6 Then
If KeyAscii = 13 Then
al(Index + 1).SetFocus
End If
~ Else

If KeyAscii = 13 Then

am(0).SetFocus

End If

End If

End Sub

(Private Sub am_KeyPress(Index As Integer, KeyAscii As Integer

If (Index + 1) <= 6 Then

If KeyAscii = 13 Then

am(Index + 1).SetFocus
“End If

Else

[f KeyAscii = {3 Then

ah(0).SetFocus

End If '

End If

End Sub

(Private Sub Command1_Click

Dim dl(6), dm(6), dh(6) As Single

Dim tl(6), tm(6), th(6) As Single

Dim q, 1 As Integer

Dim a, |, tdv, cdv, pci As Single
~(a = Val(vahedf. Fext].Text

(I = Val(vahedf. Text12.Text

........ oS 108l il am e o e '

tl(0) = (al(0) / a) * 100

(Select Case tl(0

Case Is<=0.1

dl(0)=0

Case 1 To 5

(dl(0) =2.4 * tl(0

Case 5To 15

dl(0)=14*tl(0)+5 |

Casels> 15

dl(0) =25

End Select

L DAVTRE S



o .Case 0 To6

tm(0) = (am(0) / a) * 100
(Select Case tm(0
CaseIs<=0

Case 0 To 4.5 )
(dm(0) =3.11 * tm(0

Case 4.5To 10

dm(0) =2.18 *tm(0) + 4.2

Case 10 To 15

dm(0)=1.4 * tm(0) + 12

Case[s> 15

dm(0) =33

- End Select

......... A Gty ulidl i e oo
th(0) = (ah(0) / a) * 100

(Select Case th(0

CaseIs<=0

dh(0) =0

" (dh(0) = 4 * th(0
Case 6 To 15
dh(0)=2.11 *th(0) + 11.33
CaseIs> 15
dh(0) =43
End Select

(results2.Text].Text = d1(0
(results2.Text2.Text = dm(0
(results2.Text3.Text = dh(0
....-___(,5 Salh il a '
ti(1) = (al(1) / a) * 320
(Select Case tl(1
Case[s<0
di(1)=0
“Case 0 To'l
@1y =15 *ti(1
Case 1 To2
di(l)=11*ti(1) +4
Case2To 3
di(1)=8 * ti(1) + 10
Case3To S
di(1)=5*tl(1) + 19
CaseIs>5
di(1) =44
End Select
S S PRLITR- TR L '
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tm(1) = (am(1)/a) * 320
(Select Case tm(1
CaseIs<0

dm(1)=0

Case 0 To |

(dm(1) =26 * tm(1

© "Case 1'To'2

dm(1) =15 * tm(1) + 11
Case2To S

dm(1)=7* tm(1) + 27
Casels>=5

dm(l) =62

End Select

Y P TNV IPU '
th(1) = (ah(1) / a) * 320
(Select Case th(1
Casels<0

dh(1)=0

Case 0 To 0.6

(dh(1)=57 * th(1

Case 0.6 To 2

~dh(1) =16.5 *-th¢1) +24.1
Case2 To 5

dh(1)=9.33 * th(1) + 38
Casels>$S

dh(1)=85

End Select

B34

PRl N Jylad
(results2.Text4. Text = di(1
(results2. TextS. Text = dm(1
(results2.Text6.Text = dh(1

—mmmeea S Gl G __5A 5
t1(2)=(al(2)/H * 100
(Select Case tl(2
CaseIs<=0
di(2)=0
.Case0Tol5 . .
(di(2) = 1.33 * ti(2
Casels> 15
di(2)=20
End Select

SRS 07 PYLIY. TR YU 1 ¢

tm(2) = (am(2) /1) * 100
(Select Case tm(2
Casels <=0

dm(2)=0

Case 0 To 14

LY WRVIPE UIN Y
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(dm(2) =2 * tm(2
CaseIs> 14
dm(2) =28
End Select

th(2) = (ah(2) /1) * 100
(Select Case th(2
Casels<=0
dh(2)=0

Case 0 To 14.3
(dh(2) = 2.66 * th(2
CaseIs>= 143
dh(2) =38

End Select

...... A

At\(Aj u’.’; Lad

=

P2
(results2.Text7.Text = dI(2

(results2.Text8.Text = dm(2

(results2.Text9.Text = dh(2
..... S Sl L R '

~ o

tl(3)=(al(3)/a)* 100
(Select Case tI(3
Casels<=0

dl(3)=0

dl(3)=1.23*ti(3
Case 14 To 34
di(3)=0.3*tl(3) + 13.8
Case 34 To 100
dl(3) =0.106 * tI(3) + 20.4
Case Is> 100
dl(3)=31
End Select
SIS WP PRLI T PR & A '
tm(3) = (am(3) /a) * 100
(Select Case tm(3
Casels<=0
dm(3)=0
Case0To 12
(dm(3) =1.67* tm(3 W e . . . BT Y T P SO SR Yy g
Case 12 To 30 '
dm(3) =0.556 * tm(3) + 13.34
Case 30 To 100
dm(3)=0.115* tm(3) + 26.55
Case [s > 100
dm(3) = 38
End Select
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" "Case 4 To 100

CETer s el g mgs e et
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e
th(3) = (ah(3)/a) * 100
(Select Case th(3
Case[s<=0
dh(3)=0
Case0To 8
(dh(3)=2.5 * th(3
Case 8 To 28
dh(3)=0.6 * th(3) + 15.2
. .Case.28.To 100 . e e e e e e e e et e esemit 2t e

dh(3) =0.33 * th(3) + 22.67 :
Case Is> 100
dh(3) =56
End Select
A 15 Al

(results2.Text10.Text = dI(3
(results2.Textl 1.Text = dm(3

(results2.Text12.Text = dh(3

tl(4)= (al(4) /a) * 100
(Select Case tl(4
CaseIs<=0

di(4)=0

Case 0 To 4
(i) = 0,55 * (4 e e e

dli(4)=0.183 * tl(4) + 14.68

Case Is> 100

dli(4) =33

End Select

...._--..]nu_,h Sasl Fall

tm(4) = (am(4) / a) * 100

(Select Case tm(4

CaseIs<=0

dm(4)=0

Case 0 To 42

(dm(4) = 0.67 * tm(4

Case 42 To 100

dm(4) =0.26 * tm(4) + 17.08

Case [s> 100 ‘
‘dm(4) =‘43 . - ] - P - ' . . .. Ve e me .: Tt s a8t et me el p M WS AR

End Select

...------.)Lg) C..\.\.A:LS C-"_——"" .....

th(4) = (ah(4) / a) * 100

(Select Case th(4

CaseIs <=0

dh(4)=0

Case 0 To 36
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|
(dh(4) =0.95 * th(4
Case 36 To 100
dh(4) =0.41 * th(4) + 19.24
Case Is> 100
dh(4) = 60
End Selec

s DS A
(results2.Text13.Text = dl(4
(results2.Text14.Text = dm(4
results2. Textl5.Text=dh(4 . ... . . Coe e e e e st e eveat b

?Sk'n tl.\-u 4 R L'JA":‘“-‘ ! .

ti(5) = (al(5) /1) * 100

(Select Case tI(5

CaseIs <=0

di(5)=0

Case 0 To 8.8

(dI(5) = 1.6 * tI(5

Case 8.8 To 20
dI(5) = 0.54 * ti(5) +9.25

Case Is>20 '

di(5) =20

End Select

LJJLLH\?A:LAL 1\;0;&\\'\ J

tm(5) = (am(5) /1) * 100
(Select Case tm(5
"CaseIs <=0
dm(5)=0

Case 0 To 3.2

(dm(5) = 3.125* tm(5

Case3.2To 8
dm(5) = 1.67 * tm(5) + 4.67

Case 8 To 20

dm(5) =0.83 * tm(5) + 11.33
Case Is>20
dm(5) =28
End Select

Ay asia 4 1 YN e R EU !

th(5) = (ah(5)/1) * 100
(Select Case th(5
Casels <=0

LA IR L NI SULPY IR il

PREVERNCN]

“dh(5)=0" = -
Case 0 To 5.6
(dh(5) =3.93 * th(5
Case 5.6 To 20
dh(5) = 1.6 * th(5) + 13.04
Case Is>20
dh(5) =45



P

End Select

(results2.Text16.Text = dl(5
(results2.Text17.Text = dm(5

(results2.Text18.Text = dh(5
.......... P Gl _)1 A £ 4 K !

)

di(6)=2
~dm(6) =0
dh(6)=0
End If

-------- bgie ol o s g Sl
[fam(6) =1 Then

dl(6)=0

dm(6) =5

dh(6)=0

End If

di(6) =0

dm(6) =0

dh(6) = 15

JEndIf .. ] ,
Y P VS

(results2.Text19.Text = dl(6
(results2, Text20.Text = dm(6
(results2. Text2:1.Text = dh(6

results2.Show

q=o
tdv=0
Fori=0To 6
If di(i) >= 5 Then
q=q+1
End If
[f dm(i) >= 5 Then
gsa+l,
End If
If dh(i) >= 5 Then

Next
Ifq<=1Then
cdv =tdv
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End If
Ifq=2 Then
Select Case tdv
Case 10 To 48
cdv=0.704 * tdv + 0.848
Case 48 To 120
cdv =0.642 * tdv + 4.986
Case 120 To 168
cdv=10.375 * tdv + 37
Case Is> 168
cdv =100
End Select
End If

~If @=3-Then -
Select Case tdv
Case 15To 70
cdv=0.556 *tdv+6.11
Case 70 To 115
cdv=0.6*tdv+3
Case 115To 180
cdv=0.431 * tdv + 22.46
CaseIs> 180
cdv=100
End Select
End If
Ifq=4 Then
Select Case tdv
Case 20 To 80

. Ldy =063 *tdv:7

Case 80 To 135

cdv =0.591 * tdv - 2.273

Case 135 To 165

cdv=0.417 * tdv + 21.25

Case 165 To 205

cdv =0.25 * tdv + 48.75

Case Is > 205

cdv =100

End Select

End If

Ifq=5 Then

Select Case tdv

Case 25 To 70

cdv =0.378 * tdv + 8.556
Case 70 Tp 135
Tedv'=0.538 * tdv - 2.962

Case 135 To 160

cdv=0.48 *tdv + 5.2

[P N
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" Case I[s> 160
cdv=10.325 *tdv + 30
End Select
End If
Ifq=6 Then
Select Case tdv
Case 30 To 100 _
cdv=0.55*tdv-6.5
Case 100 To 140
cdv=0.488 * tdv - 0.25
Case 140 To 155
cdv=0.467 * tdv + 2.667
Case 155 To 180
cdv=04*tdv+13
Case Is> 180
~edv= 0725 * tdv + 40 e e . S IR T
End Select
EndIf
Ifq>=7 Then
Select Case tdv
Case 35 To 100
cdv=0.55*tdv-6.5
Case 100 To 140
cdv =0.488 * tdv - 0.25
Case 140 To 180
cdv=0.3*tdv +26
Case Is> 180
cdv=10.15*tdv + 53
End Select
End If
,-\Ifcdv >-1OO Then . PR . . . .. PSP DS X S SU RPN, ST
cdv =100 '
End If
pci = 100 - cdv
message.Label4.Caption = pci
message.Label2.Caption = vahedf. Text10.Text
message.Show

T

vahedf.Data5.Recordset. MoveL ast
vahedf.Data5.Recordset.Edit
vahedf.DataS.Recordset.Fields!vpci = pci
(vahedf.DataS.Recordset.Fields!d10 = dI(0
(vahedf.DataS.Recordset.Fields!dl1 = dI(1
(vahedf.Data5.Recordset.Fields!dl2 = dI(2
(vahedf.Data5.Recordset.Fields!dl3 = dI(3
-(vahedf.DataS.Recordset.Fields!dl4 = dl(4. e bk e memen % s sa oo bt
(vahedf.Data5.Recordset. Fields!dl5 = dI(5 ’

LRV TRN AN D)



' (vahedf Data5 Recordset.Fields!dl6 = di(6

W e

(vahedf.Data5.Recordset.Fields!dm0 = dm(0
(vahedf.Data5 Recordset.Fields!dm1 = dm(1
(vahedf.Data5 Recordset.Fields!dm2 = dm(2
(vahedf.Data5.Recordset.Fields!dm3 = dm(3
(vahedf.Data5.Recordset.Fields!dm4 = dm(4
(vahedf.Data5.Recordset.Fields!dm5 = dm(5
(vahedf.Data5.Recordset.Fields!dm6 = dm(6

(vahedf.DataS.Recordset.Fields!dh0 = dh(0
(vahedf.Data5.Recordset.Fields!dh1 = dh(l
(vahedf.Data5.Recordset.Fields!dh2 = dh(2
(vahedf.Data5.Recordset.Fields!dh3 = dh(3
(vahedf.Data5.Recordset.Fields!dh4 = dh(4
(vahedf.Data5.Recordset.Fields!dh5 = dh(5
~{vahedf.Data5:Recordset.Fields!dh6 =dh(6 e T T et s

vahedf.Data5.Recordset. Update
results[.Show

End Sub

(Private Sub Command2_Click
vahedkhf.Hide
End Sub

()Private Sub Form_Load
End Sub

- e e .. . ... vjasf:frm,..405)‘,1.1}....,‘-..-,..‘-q.;-..-.,

(Private Sub ah_KeyPress(Index As Integer, KeyAscii As Integer
If (Index + 1) <= 14 Then
If KeyAscii = 13 Then
ah(Index + 1).SetFocus
End [f

Else

If KeyAscii = 13 Then
Command1.SetFocus

End If

End If

End Sub

(Private Sub al_KeyPress(Index As Integer, KeyAscii As Integer
[f (Index + 1) <= 14 Then
~If KeyAJsoii = 13-Then , et .. . v e e e A , e <A e et o b g A
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al(Index + 1).SetFocus '
End If

- ~Else-

If KeyAscii =13 Then
am(0).SetFocus

End If

End If

End Sub

(Private Sub am_KeyPress(Index As Integer, KeyAscn As Integer
If (Index + 1) <= 14 Then
If KeyAscii = 13 Then
am(Index + 1).SetFocus
End If

Else

If KeyAscii = 13 Then
ah(0).SetFocus

End If

. JEndIf ..

End Sub

()Private Sub Command|_Click
Dim dl(14), dm(14), dh(14) As Single
Dim tl(14), tm(14), th(14) As Single
- Dim q, i As Integer

Dim a, |, tdv, cdv, pci As Single
(a=Val(vahedf.Textl.Text

(1= Val(vahedf.Text12.Text

........ oS ity Al R '
tl(0) = (al(0) / a) * 100 * 3 2

(Select Case tl(0

Case [s <=0.1

di0)=20

Case 0.1 To 0.5

" Tdi(0y = (11.445 *"Log(t1(0)) / Log(10)) + 13.445

Case 0.5 To 10

dl(0) = (34.59 * Log(ti(0)) / Log(10)) +20.41
Case 10 To 100Q

dl(0) = (42.66 * Log(tl(0)) / Log(10)) + 12.34
Case [s> 100

d1(0) = 97.66

End Select

........ L yla Cally Al N '

tm(0) = (am(0) / a) * 100 * 3. 2

(Select Case tm(0

Case Is <= 0.1

dm(0)=0

Case 0.1 To0.4
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dm(0) = (21.03 * Log(tm(0)) / Log(10)) + 26.03

Case 0.4 To 2

dm(0) = (39.06 * Log(tm(0)) / Log(lO)) +33.2
~Case2To 15 - -

dm(0) = (62.85 * Log(tm(0)) / Log(10)) + 26.08

CaseIs> 15

dm(0) =100

End Select

......... .)\.l_) Ll U a !

th(0) = (ah(0) / a) * 100 * 3. 2

(Select Case th(0

Case Is <=0.1

dh(0)=0

Case 0.1 To 0.2

dh(0) = (14.28 * Log(th(0)) / Log(10)) + 34.28

Case 0.2 To 1

dh(0) = (38.14 * Log(th(0)) / Log(10)) + 50.95

Case | To 8
~dh(0) = (54.44.* Log(th(O)) / Log( 10)) .41

CaseIs> 8

dh(0) = 100

End Select

i h: hlai

(resultsl.Textl.Text = di(0

(results]. Text2. Text = dm(0

(results].Text3.Text = dh(0

-------- PSS Sallia s = '

tl(1) = (al(1) / a) * 100

(Select Case tl(1

Casels <1

di{1)=0

Casel To 7

dI(1) = (7.65 * Log(tl(1)) / Log(10)) + 2.5
_Case 7To 30

dl(l) (17 46 * Log(tl(l)) / Log(lO)) '5.75

Case Is>=3

di(1)=20

End Select

tm(1) = (am(1) / a) * 100

(Select Case tm(1

Casels <1

dm(1)=0

Case 1 To 6

dm(1) = (19.87 * Log(tm(1)) / Log(10)) + 12.5
Case 6 To 30

dm(1l) =(31.43 * Log(tm(1))/ Log(10)) + 3.5

N ANl
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Case Is>=30
dm(1) =50
End Select
--------- B el
th(l) =(ah(1)/a) * 100
~{Select €ase th(1-
Casels <1
dh(1)=0
Case 1 To 5.5
dh(1) = (14.86 ™ Log(th(1)) / Log(10)) + 34
Case 5.5 To 30
dh(1) =(35.29 * Log(th(1)) / Log(10)) + 18.88
Case Is>=30
dh(1)=71
End Select
oY 3 gl
(results].Text4. Text = dl(1
(results].Text5.Text = dm(l
(results].Text6.Text = dh(l

_.\-,--:-,-:--(»S Cr‘*‘*:'l-.‘.)\ - TR " e
tl(2) = (al(2) / a) * 100
(Select Case tI(2
Case Is <0.1
dl(2)=0
Case 0.1 To 0.7
dl(2) =(3.43 * Log(tl(2)) / Log(10)) + 4.83
Case 0.7 To 20
dl(2) = (21.08 * Log(tl(2)) / Log(10)) + 7.57
Case 20 To 100
dl(2) = (22.86 * Log(tl(2)) / Log(10)) + 5.26
Case Is> 100
dl(2) =51
End Select

m(2) = (am(2) /a) * 100
" (Select Case tm(2
CaseIs < 0.1
dm(2)=0
Case 0.1 To 0.9
dm(2) = (11.95 * Log(tm(2)) / Log(10)) + 16.25
Case 0.9 To 20
dm(2) = (28.07 * Log(tm(2)) / Log(10)) + 16.98
Case 20 To 100
dm(2) = (10.26 * Log(tm(2)) / Log(10)) + 27.14
Case Is> 100
dm(2) = 67.66
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End Select
......... AL Gl L a8 !
th(2) =(ah(2)/a) * 100"
~ (Select Case th(2'
Case [Is<0.1'
dh(2)=0"'
Case 1 To 5.5
dh(2) =(14.86 * Log(th(2)) / Log(10)) + 34 '
Case 5.5To 30"
~dh(2) =(35.29 * Log(th(2)) / Log(10))+18.88 * - - - R
Case Is >= 30" '
dh(2)=71"
End Select'
g WA '
(results1.Text7.Text = dI(2
(resultsl. Text8.Text = dm(2
(results1.Text9.Text = dh(2' :
---------- PSSty Sl ol e
tl(3)=(al(3) /a) * 100
(Select Case tI(3
Casels<=1
di3)=0
Case 1 To 20
((di(3) = (8.84 * Log(tl(3)) / Log(10 _
-Case.20.To 100 . e Coe e ey s e e eeeest s
dl(3) =(23.03 * Log(tl(3)) / Log(10)) - 18.47 '
Case Is> 100
di(3)=28
End Select

tm(3) =(am(3)/a) * 100

(Select Case tm(3

CaseIs<0.5

dm3)=0

Case 0.5To 8

dm(3) = (10.46 * Log(tm(3)) / Log(10)) + 3.15
Case 8 To 100

dm(3) = (28.17 * Log(tm(3)) / Log(10)) - 12.84
Case Is> 100

End Select ' . o
--------- Ayl Sy e e

th(3) = (ah(3) /a) * 100

(Select Case th(3

CaseIs<=0

dh(3)=0

Case0Tol
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dh(3) = (6.4 * Log(th(3))/ Log(10)) + 6.4
Case 1 To 10
dh(3) = (23.1 * Log(th(3)) / Log(10)) + 6.4
Case 10 To 100
dh(3) = (43 * Log(th(3)) / Log(10)) - 13.5
Case Is> 100
dh(3)=73
End Select
Sa T IE- '
(results].Text10.Text = dI(3
(results].Textl1.Text =dm(3
(resultsl.Text12.Text = dh(3
‘,SL"\\:l_;qJ\L A..J,_,.C_uxé_bl. .......
tl(4) = (al(4) / a) * 100
(Select Case tl(4 _
Case Is < 0.1
dl(4)=0
Case 0.1 To 0.6
dl(4)= (1.8 * Log(tl(4)) / Log(10)) + 6.1
Case 0.6 To20
dl(4) =(22.52 * Log(tl(4)) / Log(10)) + 10.7
Case 20 To 100
dl(4) = (31.47 * Log(ti(4)) / Log(10)) - 0.95
Case Is> 100
di(4) =62
End Select

tm(4) = (am(4) /a) * 100
(Select Case tm(4
Case Is< 0.1

" dni(4) =0

Case 0.1 To 0.6

dm(4) = (13.75 * Log(tm(4)) / Log(lO)) +20.15
Case 0.6 To 6

dm(4) =(22.9 * Log(tm(4)) / Log(10)) +22.18
Case 6 To 100

dm(4) = (30.97 * Log(tm(4)) / Log(10)) + 15.93
Case Is> 100

dm(4)=178

End Select

th(4) = (ah(4) / a) * 100

(Select Case th(4

Case[s <0

dh(4)=0

~Case’ 0.1 To 0.5 -

dh(4) = (14.31 * Log(th(4)) / Lo;,(lO)) +26.81
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Case 0.5To 2

~dh(4) = (29.07 * Log(th(4)) / Log(10))+.31.25 Coe . e e e b e et et e nats s
Case 2 To 100 '
dh(4) = (30.31 * Log(th(4)) / Log(10)) + 30.875
Case Is> 100
dh(4) =92
End Select

§ s g S gy A e
(resultsl.Text13.Text = dl(4
(resultsl.Text14.Text = dm(4
(results].Textl5.Text = dh(4

Sl e g J—— bl s '

tl(§5) = (al(§) /1) * 100
(Select Case tI(5
Case[s<2
di(5)=0

Case2To7 .

dI(5) = (9.19 * Log(tl(5)) / Log(10)) - 2.77
Case 7 To 30
di(5) = (16.93 * Log(tl(5))/ Log(10)) - 9.31
Case 30 To 100
dI(5) = (23.52 * Log(tl(5)) / Log(10)) - 19.05
Case Is> 100
di(5) =28
End Select

L.A_,LL‘A.',‘.I.\ 'a)gjqj’ ___L,e!_;;. ----- !
tm(5) = (am(5) /1) * 100
(Select Case tm(5
Case Is<0.5
dm(5)=0
Case 0.5 To 2
dm(5) = (7.14 * Log(tm(5)) / Log(10)) + 2.15

~CaserTeT

dm(3) = (15.07 * Log(tm(5)) / Log(10)) - 0.24
Case 7 To 100
dm(5) = (27.28 * Log(tm(5)) / Log(10)) - 10.55
Case [s> 100
dm(5) =44
End Select

W) aldly i ey Ay dr e
th(5) = (ah(5) /1) * 100
(Select Case th(5
Case Is<0.3
dh(5)=0
Case 0.3 To 1.2
dh(5) = (10.8 * Log(th(5)) / Log(10)) +9.15

e e -

L S O

P o Sy e A
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dh(5) = (20.5 * Log(th(5)) / Log(10)) + 8.38
Case 7 To 100

dh(5) = (52.21 * Log(th(5)) / Log(lO)) -18.42
~Case Is> 100 .

dh(5) = 86

End Select

(results].Text16.Text = dI(5

(resultsl.Textl7.Text = dm(5

(results1.Text18.Text = dh(5
?SL’H\‘J.\“;\L 3‘&!} !

tl(6) = (al(6) /1) * 100

(Select Case tl(6

CaseIs <0.4

di(6) =0

Case 0.4 To 12

dl(6) =(3.38 * Log(tl(6)) / Log(10)) + 1.35

Case 12 To 60

. .dl(6).=(14.31 * Log(tl(6)) / Log(10)).-. 10,44

Case Is > 60
di(6) =15
End Select

tm(6) = (am(6) /1) * 100
(Select Case tm(6
Case Is<0.3
dm(6)=0
Case 0.3 To 0.5
dm(6) = (4.34 * Log(tm(6)) / Log(10)) + 6.47
Case 0.5 To 60
dm(6) = (17.14 * Log(tm(6)) / Log(10)) - 2.48
Case Is> 60
dm(6) =28
End Select

th(6) = (ah(6)/l) * 100
(Select Case th(6
CaseIs<0.3 |
dh(6)=0
Case 0.3 To 3.3
dh(6) = (4.32 * Log(th(6)) / Log(10)) +9.26
Case 3.3 To 60
dh(6) = (27.39 * Log(th(6)) / Log(10)) - 2.7
Case Is> 60
dh(6) = 46
End Select
5.5‘ A .;l U
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(resultsl.Text19.Text = dl(6
(resultsl.Text20.Text = dm(6
(resultsl. Text21.Text = dh(6
---------- (,S Sashy ‘.’.DL adl i '
tl(7) = (al(7) / a) * 100
~(Select Case tI(7 -
Case Is < 0.1
di(7)=0
Case 0.1 To 1.3
dI(7) = (4.48 * Log(tl(7)) / Log(10)) + 4.48
Case 1.3 To 100
di(7) = (25.98 * Log(tl(7)) / Log(10)) + 2.03
Case Is> 100
di(7) = 54
End Select
s gia 28 DU Ad o
tm(7) = (am(7) / a) * 100
(Select Case tm(7
Case [s<0.1
dm(7) =0
~Case.0.1 To 1.l . i e
dm(7) =(6.72 * Log(tm(7)) / Log(10)) + 8.72
Case 1.1 To 13
- dm(7) = (38.22 * Log(tm(7)) / Log(10)) + 7.41
Case 13 To 100
dm(7) = (22.57 * Log(tm(7)) / Log(10)) + 24.85
Case Is> 100
dm(7) =70
End Select

th(7) = (ah(7) / a) * 100
(Select Case th(7
Case Is <0.1
dh(7)=0
Case 0.1 To 1
_dh(7) = (2,4 * Log(th(7)) / Log(10)) + 6.4,
Case 1 To 13
dh(7) = (60.68 * Log(th(7)) / Log(10)) + 6.4
Case 13 To 100
dh(7) = (20.31 * Log(th(7)) / Log(10)) + 51.37
Case Is > 100
dh(7) =92
End Select
qD\ A i !
(results1. Text22.Text = dI(7
(results].Text23.Text = dm(7
(results].Text24.Text = dh(7




ti(8) = (al(8) / 2) * 100

(Select Case tI(8

Casels<1

di(8)=0

Case 1 To 15

((d1(8) =(2.13 * Log(tl(8))/Log(10 '
“Case 15To 100 - o
dI(8) = (21.24 * Log(tl(8)) / Log(10)) - 22.48
Case Is> 100

dl(8) =20

End Select

tm(8) = (arn(8)/a) * 100

(Select Case tm(8

Case Is <0.1

dm(8)=0

Case 0.1 To 3

dm(8) ={3.38 * Log(tm(8))/ Log(10)) + 3.38
Case3To29

dm(8) = (16.24 * Log(tm(8)) / Log(10)) - 2.75
Case 29 To 100

. ~dm(8) =(35.34 *-Log(tm(8)) / Log(10))-- 30.68

. Case Is> 100
dm(8) =40
End Select
J—— Agyeadly Koy A
th(8) = (ah(8) / a) * 100
(Select Case th(8
Case Is <0.1
dh(8)=0
Case 0.1 To 1
dh(8) = (4 * Log(th(8)) / Log(10)) + 6
Case 1 To 10
dh(8) = (14 * Log(th(8)) / Log(10)) + 6
Case 10 To 100
dh(8) = (50 * Log(th(8)) / Log(lO)) 30

_Casels> 100 . .
dh(8) =73
End Select

$S3)- £ DA '

(results1.Text25.Text = dI(8
(results].Text26.Text = dm(8
(results1.Text27.Text = dh(8
---------- (aS Qs T A
t1(9) = (al(9)/a) * 100
(Select Case tl(9
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Case Is <0.1

di(9)=0

Case 0.1 To 1

dl(9) = (0.5 * Log(tl(9)) / Log(10)) +2
Case 1 To 8

dl(9) = (8.86 * Log(tl(9)) / Log(10)) + 2
Case 8 To 100

dI(9) = (25.98 * Log(tl(9)) / Log(10)) - 13.46
Case Is> 100

“dI(9) = 385

End Select

tm(9) = (am(9) / a) * 100
(Select Case tm(9
Case [Is < 0.1
dm(9)=0
Case 0.1 To 0.8
dm(9) = (7.2 * Log(tm(9)) / Log(10)) + 12.7
Case 0.8 To 20
dm(9) = (25.04 * Log(tm(9)) / Log(10)) + 14.43
Case 20 To 100
dm(9) = (38.63 * Log(tm(9)) / Log(10)) - 3.26
Case Is> 100
dm(9) =74
~End Select - -

th(9) = (ah(9) / a) * 100

(Select Case th(9

Case Is <0.1

dh(9)=0

Case 0.1 To 3

dh(9) = (23.7 * Log(th(9)) / Log(10)) + 33.7

Case 3 To 100

dh(9) = (32.18 * Log(th(9)) / Log(10)) + 29.65

Case Is> 100

dh(9) =94

End Select

> a e lal

(resultsl.Text28.Text = dI(9
-{resultsl. Text29.Text = dm(9

(resultsl.Text30.Text = dh(9

.......... S oasl g <l AP

t1(10) = (al(10) / a) * 100

(Select Case tI(10

Case [s<0.3

di(10)=0

Case 0.3 To 4
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d1(10) = (6.22 * Log(tl(10)) / Log(10)) + 3.25
Case 4 To 50
dI(10) =(23.7 * Log(tl(10)) / Log(10)) - 7.27
Case Is> 50
dl(10) =33
End Select

Lﬂ‘,:\,.mw.\_,‘;‘)\ < 4] —ay
tm(10) = (am(10) / a) * 100
(Select Case tm(10
Case Is<0.1
Ldm(10)=0
Case 0.1 To 1
dm(10) = (7 * Log(tm(10)) / Log(10)) + 9
Case 1 To 8
dm(10) =(19.93 * Log(tm(10)) / Log(10)) +9
Case 8 To 50
dm(10) =(37.7 * Log(tm(10)) / Log(10)) - 7.04
Case Is> 50
dm(10) =57
End Select

\171‘) ) .“l.'LfJ\ < 4l Y - '

th(10) = (ah(10) / a) * 100
(Select Case th(10
. Case Is <0.1
dh(10)=0
Case 0.1 To 0.3

" ~dh{10)= (8.38 * Log(th(10)) / Lg(10))+"14.38

Case 0.3 To3
dh(10) = (20 * Log(th(10))/ Log(10)) +20.46
Case 3 To 50
dh(10) = (40.92 * Log(th(10)) / Log(10)) + 10.48
Case Is> 50
dh(10) = 80
End Select
¢ S 4L <y A
(results].Text31.Text = di(10
(results1.Text32.Text = dm(10
(results]. Text33.Text = dh(10
JCRUAR-FRLA T K SIS S— '
tl(11)=(al(11)/a) * 100
(Select Case tl(11
“Case'ls <0.1 + -
di(11)=0
Case 0.1 To 10
di(11) =(2.5 * Log(ti(11))/ Log(10)) + 2.5
Case 10 To 100
dl(11)= (11 * Log(tl(11)) / Log(10)) - 6

UG T—
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Case Is > 100
di(11)=16
End Select

tm(11) = (am(11)/a) * 100
(Select Case tm(11
Case Is < 0.1
dm(11)=0
Case 0.1 To 6
dm(11) =(4.78 * Log(tm(11))/ Log(10)) + 8.78
Case 6 To 100
dm(11) =(25.78 * Log(tm(11))/ Log(IO)) 7.56
~Case.Is>100. . .
dm(11)=44
End Select
) ally il 933,_,,, L W '
th(11)=(ah(11)/a) * 100
(Select Case th(11
Case Is < 0.1
dh(11)=0
Case 0.1 To3
dh(11) =(10.83 * Log(th(11)) / Log(10)) + 16.83
Case 3 To 20
dh(11) =(41.27 * Log(th(11)) / Log(10)) + 2.31
Case 20 To 100
dh(11)=(31.47 * Log(th(11)) / Log(10)) + 15.05
CaseIs> 100 -

. .dh(11) =78

End Select

...... il g—g.}}u) ) UJ'L ;LAL !
(results].Text34.Text = dI(11
(results1.Text35.Text = dm(11
(results].Text36.Text = dh(11

.......... oS il clid S 4 '
tl(12) = (al(12) / a) * 100

(Select Case tI(12

Casels<0.4

dli(12)=0

Case 0.4 To 6

dl(12) = (12.75 * Log(ti(12)) / Log(10)) + 5.07
Case 6 To 50

dI(12) = (22.81 * Log(tl(12)) / Log(10)) - 2.75
Case Is> 50

“dI(12) =36

End Select

-------- .Luju C'_).L::Ll Saltad g"g\___‘ki))L}S.-------'
tm(12) = (am(12)/a) * 100
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(Select Case tm(12
Case Is <0.1
dm(12)=0
Case 0.1 To 0.5
dm(12) = (1.43 * Log(tm(12)) / Log(10)) + 4.43
Case 0.5To 6
dm(12)=(21.31 * Log(tm(12)) / Log(10)) + 10.42
Case 6 To 50
dm(12) = (40.18 * Log(tm(12)) / Log(10)) - 4.27
Case Is> 50
dm(12) =64
End Select
) Caadly il S ) jiSonoo!
th(12) = (ah(12)/a) * 100
~{Select Case th(12
Case Is <0.1
dh(12)=0
Case 0.1 To 0.5
dh(12) =(7.87* Log,(th(lZ)) / Log(10)) + 14.87
Case 0.5To 3 )
dh(12) =(22.49 * Log(th(12)) / Log(10)) + 19.27
Case 3 To 50
dh(12) = (40.92 * Log(th(12)) / Log(10)) + 10.48
Case Is > 50
dh(12) =80
End Select
...... il VS_—EJJUS Ut‘ :LA'« !
(resultsl.Text37.Text = di(12
(results].Text38.Text = dm(12

. (resultsl. Text39.Text=dh(12 .. .....

(&n‘\\ﬁl'aﬂ)& b Bl Vet SRV
tI(13) = (al(13) /1) * 100
(Select Case tI(13
Casels<l1.5 -
di(13)=0
Case 1.5To 10
dI(13) = (1.21 * Log(tl(13)) / Log(10)) + 1 79
Case 10 To 50
dl(13) = (18.6 * Log(tl(13)) / Log(10)) - 15.6
Case Is> 50
di(13) =16
End Select

tm(13) =(am(13) /1) * 100
_(Select Case tm(13

Case Is< 1.5

dm(13)=0

S el S T D gy
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Case1.5To7 | .
dm(13) =(2.99 * Log(tm(13)) / Log(10)) + 3.47
Case 7 To 20
dm(13) =(12.06 * Log(tm(13))/ Log(10)) - 4.19
Case 20 To 50.

dm(13) = (38.95 * Log(tm(13)) / Log(10)) - 39.18

Case Is > 50

dm(13) =27

End Select

......... Ay ol ja LS culs '

th(13) = (ah(13) /1) * 100

(Select Case th(13

CaselIs<1.5

dh(13)=0

Case 1.5To 5

dh(13) =(3.82 * Log(th(13)) / Log(10)) + 5.32
“Case 5To20 " Coo

dh(13) =(26.58 * Log(th(13))/ Log(10)) - 10.58

Case 20 To 50

dh(13) = (50.26 * Log(th(13)) / Log(10)) - 41.39

Case Is> 50

dh(13) =44

End Select

_ .IJ 4, IR u&——;‘-d- .........

(results].Text40.Text = dI(13

(resultsl.Text41.Text = dm(13

(results].Text42.Text = dh(13

.......... aS Caally (a0 y o8 538 et

tl(14) = (al(14) / a) * 100

(Select Case tl(14

Casels<1

Case 1 To 4

di(14) = (3.32 * Log(tl(14)) / Log(10)) +2

Case 4 To 20

dl(14) = (18.6 * Log(tl(14)) / Log(10)) - 7.19

Case 20 To 50

di(14) = (7.54 * Log(tl(14)) / Log(10)) + 7.19

Case Is > 50

di(14)=20

End Select

tm(14) = (am(1)/a) * 100
(Select Case tm(14
CaseIs <1
dm(14)=0

-Case 1.To4 . .

Gl Wbyt O
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dm(14) = (24.91 * Log(tm(14)) / Log(10)) + 6
Case 4 To 10
~dm(14) = (47.75 * Log(tm(14)) /-Log(10))- 7.75
Case 10 To 50
dm(14) = (14.31 * Log(tm(14)) / Log(10)) + 25.69
Case Is> 50
dm(14) =50
End Select
Ay ally o alal ol 8
th(14) = (ah(14)/a) * 100
(Select Case th(14
Casels<1
dh(14)=0
Case 1 To 2.5
dh(14) = (35.18 * Log(th(14)) / Log(10)) + 20
Case2.5To 11
dh(14) =(55.95 * Log(th(14))/ Log(10)) + 11.74

. Lase.11.To 50 . .

dh(14) =(15.21 * Log(th(14)) / Log(10)) + 54.16
Case Is> 50 '

dh(14) =80
End Select
...... L‘).__Jﬂ ol ols_)kg P U D, SR

(results].Text43.Text = dl(14
(results].Text44.Text = dm(14
(results].Text45.Text = dh(14

q=0
tdv=0

Fori=0To 14
Ifdi(i) >= 5 Then

q=q+1

EndIf

"1f dm(i) >= 5 Then

q=q+1

End If

If dh(i) >= 5 Then

q=q+1

End If

(tdv = tdv + dl(i) + dm(i) + dh(i
Next

1

Ifq <=1 Then
cdv =tdv

End If

If =2 Then
Select Case tdv

L;J,}'x.;,atfobju '_ ::4\;...-):.1
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Case 10 To 54
cdv=0.773 * tdv - 1.727
Case 54 To 96
~cdv'= 0:667 * tdv + 4
Case 96 To 128
cdv=0.563 * tdv + 14
Case 128 To 166
cdv =0.368 * tdv + 38.842
Case Is> 166 ’
cdv =100
End Select
End If
Ifq =3 Then
Select Case tdv
Case 15 To 60
cdv=0.714 * tdv - 4.857
Case 60 To 98
cdv =0.632 * tdv + 0.105
~Lase. 98.To 136 .
cdv =0.526 * tdv + 10.421
Case 98 To 178
cdv=0.429 * tdv + 23.714
Casels> 178 -
cdv =100
End Select
End If
If q=4 Then
Select Case tdv
Case 20 To 62
c¢dv=0.619 * tdv - 4.381
Case 62 To 118
cdv =0.607 * tdv - 3.643
Case 118 To 162
_cdy = 0455 * tdv + 14.364
Case 165 To 180
cdv=10.333 * tdv + 34
Case s> 180
cdv=0.2*tdv.+ 58
End Select
End If
Ifq=5 Then
Select Case tdv
Case 25 To 68
cdv =0.636 * tdv - 18.636
Case 68 To 122
cdv=10.556 * tdv - 3.778
Case 122 To 166
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cdv=0.455 * tdv + 8.545
CaseIs> 166
cdv=0.294 * tdv + 35.176
End Select
“End If
If q=6 Then
Select Case tdv
Case 30 To 84
cdv=0.593 * tdv - 9.778
Case 84 To 130
cdv =0.522 * tdv - 3.826
Case 130 To 170
cdv=045*tdv+5.5
Case 170 To 200
cdv =0.267 * tdv + 36.667
End Select
End If
If q>=7 Then
Select Case tdv
~Case:35-To 84
cdv=0.593 *tdv -9.778
Case 84 To 130
cdv=0,522 * tdv - 3.826
Case 130 To 172
cdv=0.13 * tdv + 47.148
Case 172 To 200
cdv=10.143 * tdv + 53.429
End Select
End If
If cdv > 100 Then
cdv=100
End If
pci =100 - cdv
results1.Show

.messagevj.Label4.Caption = pei |

messageVvj.Show
End Sub

()Private Sub Form_Load

End Sub

()Private Sub Command!_Click

If Val(Textl.Text) <= 0 Then
("ot 225 3 )l 5 ol 2l y Ciala) MsgBox

S amlS by ) 1 S
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Else
If Val(Text12.Text) <= 0 Then
(" 02 3 )l 5oLl aal y J4ka") MsgBox
Else
If Qphonl Value = True Then
Else
vjasf.Show
End If
End If
End If
End Sub

(Private Sub Command2_Click
vjf.Hide
End Sub

()Private Sub Form_Load

End Sub

(Private Sub ah_KeyPress(Index As Integer, KeyAscii As Integer
If (Index + 1) <=6 Then
If KeyAscii = 13 Then
ah(Index + 1).SetFocus
End If

Else

If KeyAscii = 13 Then
Command].SetFocus
End If

End If

End Sub

(Private Sub al_KeyPress(Index As Integer KeyAscu As Integer
“If (Index + 1) <=6 Then

If KeyAscii = 13 Then

al(Index + 1).SetFocus

End If

Else

If KeyAscii = 13 Then

am(0).SetFocus

End If

End If

End Sub

(Private Sub am_KeyPress(Index As Integer, KeyAscii As Integer

If (Index + 1) <= 6 Then

Vikhffrm 4obp »;
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If KeyAscii = 13 Then
am(Index + 1).SetFocus
End If

Else

If KeyAscii = 13 Then
ah(0).SetFocus

End If
End Sub

(Private Sub Commandl_Click
Dim dl(6), dm(6), dh(6) As Single
Dim tl(6), tm(6), th(6) As Single
Dim q, i As Integer

Dim a, |, tdv, cdv, pci As Single
(a = Val(vahedf. Text1.Text

(1 = Val(vahedf. Text12.Text

t1(0) = (al(0) / a) * 100

(Select Case tl(0
"flase'ls x=( ] - . . e . L T . e R e eesenl e AN

di(0)=0

Case 1 To 5

(d1(0) =2.4 * t1(0

Case 5To 15 °

dl(0)=1.4*tl(0)+5

Casels>15

di(0)=25

End Select

tm(0) = (am(0) / a) * 100
(Select Case tm(0
CaseIs<=0
dm(0)=0
Case 0 To 4.5
(dm(O) =3 11* tm(O . I - . T R T LT TUTe PLPP SV pE i
Case 4.5 To 10 '
dm(0)=2.18 * tm(0) +4.2
Case 10 To 15
dm(0) = 1.4 * tm(0) + 12
CaseIs> 15
dm(0) =33
End Select
Jgjl-.\:t_,wu‘uw-‘,)gc___u». ..... !
th(0) = (ah(0) / a) * 100
(Select Case th(0




Casels<=0

dh(0)=0

Case 0 To 6

(dh(0) =4 * th(0

Case 6 To 15

dh(0)=2.11 * th(0) + 11.33
JCasels>15

~dh(0) =43
End Select

(results2.Textl, Text = dI(0

(results2.Text2.Text = dm(0

(results2.Text3.Text = dh(0
oSl all N '

ti(1) = (al(l) / a) * 320

(Select Case tl(1

CaseIs<0

di(1)y=0

Case 0 To |

@) =15*tl(1

Case 1 To 2

di(l)=11*tl(1)+ 4

“Case2 To3 - C e Coe . b e st

di(l)=8 *tl(1) + 10

Case3To5

di(t)y=5*tl(1) + 19

Casels>5

di(1) = 44

End Select

tm(1) = (am(1)/a) * 320
(Select Case tm(1
CaseIs <0
dm(1)=0
Case 0 To 1
(dm(1) =26 * tm(l
Case 1 To 2
~dm(1)=15* tm({) + 11 . .. e e e iaa e o
Case2To 5 )
dm(1)=7*tm(1) + 27
CaseIs>=35
dm(1) =62
End Select
......... ALy Gadl A '
th(1) = (ah(1)/ a) * 320
(Select Case th(1l
Case[s <0

4p
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dhy(1)=0
Case 0 To 0.6
(dh(1) =57 * th(1
Case 0.6 To 2
dh(1) =16.5 * th(1) + 24.1
" Case2To 5
dh(1) =9.33 * th(1) + 38
Casels> 5
“dh{1) =85 e e . B e e
End Select
Al a Julai !

(results2.Text4. Text = di(1
(results2.Text5.Text = dm(1
(results2.Text6.Text = dh(1
9
tl(2) =(al(2) /1) * 100
(Select Case tl(2

Case Is <=0

di2y=0

Case 0 To 15

(d1(2) = 1.33 * t}(2
CaseIs> 15

di(2) =20

. "'\Erl‘d Select Y w Cita . . . . . e L ae s e fii g emall g Nes 0 AN

tm(2) = (am(2) / 1) * 100
(Select Case tm(2 -
Casels<=0

dm(2)=0

Case 0 To 14

(dm(2) =2 * tm(2
Casels> 14

dm(2) = 28

End Select

4

(Select Case th(2
CaseIs <=0
Case 0 To 14.3 )
(dh(2) =2.66 * th(2
Case Is>=14.3
dh(2) =38

End Select

». - = .
...... ra AJQJ Silai

(results2.Text7. Text = dI(2
(results2.Text8.Text = dm(2



P - e .
- . . - . L L i T S IR HERPIY RANENS SRS WL P TR PN

A4 ' , L;J:):,b’ui;j;;,!:;bc...-,_..‘

(results2.Text9.Text = dh(2
r\SL"\\ ‘.l‘,JL e .
t(3) = (al(3) / 2) * 100
(Select Case tl(3
Casels<=0
di(3)=0
Case 0 To 14
(di(3) = 1.23 * tI(3
Case 14 To 34
LdI3)=03* (3)+ 138 o e e e e
Case 34 To 100 _ —
dl(3)=0.106 * ti(3) + 20.4
CaseIs> 100
di(3) =31
End Select

tm(3) = (am(3) / a) * 100
(Select Case tm(3

Case Is<=0

dm(3)=0

Case 0 To 12

(dm(3) = 1.67 * tm(3

Case 12 To 30

dm(3) =0.556 * tm(3) + 13.34
Case 30 To 100
“dm(3) = 0.115 * tm(3) + 26.55
Case Is> 100

dm(3) =38

End Select

th(3) = (ah(3) /a) * 100

(Select Case th(3

CaseIs<=0

dh(3)=0

Case0To 8

(dh(3) =2.5* th(3

Case 8 To 28

dh(3)=0.6 * th(3) + 15.2

Case 28 To 100

dh(3) = 0.33 * th(3) + 22.67
“Case’Is>100" -

dh(3) = 56

End Select

B PR S X

(results2.Text10.Text = dI(3

(results2.Text]11.Text = dm(3

(results2.Text12.Text = dh(3

PR RS O
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ti(4) = (al(4) / a) * 100
(Select Case ti(4 )
Casels<=0

di4)=0

Case 0 To 4

(di(4) = 0.55 * tl(4

Case 4 To 100

di(4) = 0.183 * ti(4) + 14.68
Case Is> 100

dl(4) =33

-BEnd Select .. ; e .. . e e e e e eam e e oeen o her A e

tm(4) = (am(4) / a) * 100
(Select Case tm(4

Case Is <=0

dm(4)=0

Case 0 To 42

(dm(d) =0.67 * tm(4
Case 42 To 100
dm(4)=0.26 * tm(4) + 17.08
Case Is> 100

dm(4) =43

End Select

th(4) = (ah(4) / a) * 100
.{(Select Case th(4, C e . e e e s e oottt

CaseIs <=0 ‘ T

dh(4)=0

Case 0 To 36

(dh(4) = 0.95 *.th(4

Case 36 To 100

dh(4)=0.41 * th(4) + 19.24

Case Is> 100

dh(4) =60

End Select

zs A Sl

(results2.Text13.Text = di(4

(results2.Text14.Text = dm(4

(results2.Text15.Text = dh(4

.......... PURIRT PRV I W KW RESEEE

tl(5) = @@l(5) /1) * 100

" (Sélect Case tI(5”

CaseIs <=0
di(s)=0

Case 0 To 8.8 _
(dI(5)=1.6 * ti(5
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Case 8.8 To 20

dI(5) = 0.54 * t|(5) + 9.25

Case Is> 20

di(5) =20

End Select

....... o gle 2l a4 31 oadas '

tm(5) = (am(5) /1) * 100

(Select Case tm(5

CaseIs<=0 '

dm(5)=0

Case 0 To 3.2

(dm(5) = 3.125 * tm(5

Case 3.2 To 8

""'dm<5) — 1:67 * tm(S) + 4.67 [ et e e . . e [N P T I T R YT .e.t". wir i meamas? 5 e e agte T
Case 8 To 20 ’
dm(5) =0.83 * tm(5) + 11.33
Case Is> 20

dm(5) =28

End Select

......... ) calhila 33 Gadiaa
th(5) = (ah(5) /1) * 100

(Select Case th(5

Casels<=0

dh(5)=0

Case 0 To 5.6

(dh(5) = 3.93 * th(5

Case 5.6 To 20

dh(5) = 1.6 * th(5) + 13.04

. --"case'IS > 20 N, . et . . . PSP R L LTI RS R NP P TP

dh(5) =45
End Select

(results2.Text16.Text = dI(5
(results2.Text17.Text = dm(5
(results2.Text18.Text = dh(5
.......... JCREIR. T PV S SO
Ifal(6) =1 Then

dl(6) =2

dm(6) =0

dh(6) =0

End If

.dfam(6).= 1 Then A . e e e b
dl(6)=0 .

dm(6) =5

dh(6)=0
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" EndIf
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If ah(6) = 1 Then
di(6)=0

dm(6) =0

dh(6) =15

End If

(results2.Text19.Text = dI(6
(results2.Text20.Text = dm(6
(results2.Text21.Text = dh(6

results2.Show

8%o
tdv=0

Fori=0To 6

If di(i) >= 5 Then

q= q+ I

If dm(i) >= 5 Then

q=q+1

End If

If dh(i) >=5 Then

q=q+1

End If

(tdv = tdv + dI(i) + dm(i) + dh(i
Next

If g <=1 Then

cdv =tdv

- “EndIf" " 7T

If q=2 Then
Select Case tdv
Case 10 To 48
cdv =0.704 * tdv + 0.848
Case 48 To 120
cdv =0.642 * tdv + 4.986
Case 120 To 168
cdv=0.375 * tdv + 37
Case Is> 168
cdv =100
End Select
End If
If q=3 Then
Select Case tdv
~Case' 15To 70 -
cdv =0.556 * tdv + 6.11

ST PP Y WATEE O
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Case 70 To 115
Teédv=06*tdv +73

Case 115 To 180
cdv=0.431 * tdv+22.46
Case Is> 180

cdv=100

End Select

End If

If g=4 Then

Select Case tdv

Case 20 To 80
cdv=0.65*tdv-7

Case 80 To 135
cdv=0.591 * tdv -2.273
Case 135 To 165
cdv=0417 * tdv +21.25
~Case 165 To 205-
cdv=10.25 *tdv + 48.75
Casc Is > 205

cdv =100

End Select

End If

Ifq=5 Then

Select Case tdv

Case 25 To 70
cdv=0.378 * tdv + 8.556
Case 70 To 135

cdv =0.538 * tdv - 2.962
Case 135 To 160
cdv=10.48 * tdv+5.2
CaseIs> 160

. .cdy.=0325 * tdv+30

End Select

End If

Ifq=6 Then

Select Case tdv

Case 30 To 100

cdv =0.55 * tdv - 6.5
Case 100 To 140

cdv = 0.488 * tdv - 0.25
Case 140 To 155

cdv = 0.467 * tdv + 2.667
Case 155 To 180
cdv=0.4*tdv + 13
Case Is> 180
cdv=0.25 *tdv +40
_End Select

R A el Ay At



- RS IRE N . . - .
- . = .. [ LRt e N a8 en fiy me @AY Ry O AT

144 ‘_;J:‘,:.'.alfu\:jc_..‘..:i:&c..«):
|
End If
If q>=7 Then
Select Case tdv
Case 35 To 100
cdv=0.55*tdv-6.5
Case 100 To 140
cdv=0.488 * tdv - 0.25
Case 140 To 180
cdv=0.3 *tdv +26
Case Is> 180
cdv=0.15 *tdv + 53
,-End Select - - PN Pt e « . ve o R I TR TR TR T R A e} iy SR F I N
End If '

If cdv > 100 Then

cdv =100

End If

pci =100 - cdv
messagevj.Label4.Caption = pei
messagevj.Show

End Sub



